= AH O
N = 0 &8 AF S & Al A
201U 20Aa L3 SR SR ~ &EES
2 ZEF S22
M Xy A5
SRl AL RE AMHR =F (e dE)
_ _ boE ==
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
SAR B2 20,485,853 19,972,301 513,552
= 88,755
Al 20,397,098
gyt 25 1,971,932 1,299, 366 672,566
AL, FE ABAL =X 645,519 481,338 164, 181
XAA2UGE AT QMEIEH 2H 38,200 41,800 23,600
202 0OiHl 32,400 36,000 23,600
04 =Hs0oHl 32,400 36,000 /3,600
ORYEBLA LA AHs
1,800,000 » 18 13| 32,400
303 ZA2 5,800 5,800 0
01 Z&2 5,800 5,800 0
OsR22 224 A2 4,800
— 2% 400,000& 25 A x4 3] 3,200
-4 200,000 282 A +43] 1,600
ORHILA Z& A4S 72 50,0002 «20H 1,000
AL AlE QI2tR(E 29 170,698 165,702 4,996
307 QI2to| A 168,298 165,702 2,596
05 BIZ+REZ 168,298 165,702 2,59
OHUH BE|AE 29 168,298,000 » 14! 168,298
401 Al&HI L 20 2,400 0 2,400
01 Al&H| 2,400 0 2,400
ONel0lE& Al 2B ZA 2,400,000 =14/ 2,400
AEHLIFRE 28 HEXH 84,700 75,535 9,165
201 Yty 79,980 65,180 14,800
01 At Zelbl 78,180 61,580 16,600
O=2dY &Y JizJ| 2
6,000 *1,000H 6,000
OFAMAANE Il 7 25,000 x4 +123| 1,200
OBRAAANE 2AE
500,000 #2Al 2+*43] 4,000
O YA Z=IN MIE 100,000 * 10 x53] 5,000
OFUAY 2dH| 500,000& x12& 6,000
OFUAY stFHH| 600,000 *23] 1,200
OAl,?H B8 #A 849
100,000 *23] x 150 A~ 3,000
OHEEY & 2ds8& M= 7,000 x2000 = 12& 1,680
OR0ZH 292 550,000 «12& 6,600
OUSPL=TE T LS|
20,000,000& 20,000
oOvlEr=ss 7,200




2N ZR7 520
Ha: NgFA 25
Sl AL PR AMYR EX (el @g

CEI - PR(B) - NRAY - BAS Lo e DS
—SX 15,0003 x205* 122 3,600
— KXl 12,0003 x252 + 12& 3,600
OANEFS & HOr ZH(HAEE 2 S&H)
16,000, 0003 14 16,000
oz 9= 300, 00021 124 14! 300
S3 24 1,800 3,600 A 1,800
ORER= 150,000 128 1,800
A&t S 4,720 9,355 N4,635
A& =S FHSHI 4,720 9,355 AN4,635
Ox7UAaE =28 4,720
—HMSI (&) 400,000& *3CH 1,200
— U8 HWSI(UH) 1,870,000& = 1CH 1,870
-2 4O (UA) 1,650,0003 1CH 1,650
ANE 2H=NE Ag NS 117,420 72,626 44,794
201 et 13,000 11,000 2,000
03 A2 HI 13,000 11,000 2,000
OZ27 AT HSHE BA
5,000,000& * 12 5,000
OF0IZ2y s=3 XN&
500,000& 41 = S 5| 43 8,000
Za=s 74,420 61,626 12,794
Zas 74,420 61,626 12,794
OoFstd ots 252 XN& 51,720
—OAl 191,500& x5 »12& 11,490
— 1Al 168,500 x5H x12& 10,110
—2Al 139,000& 58 x12& 8,340
—3All 95,5002 x 108 x12& 11,460
—4AI01 &~6A10] 2 86,0002 x10E x12& 10,320
O3+ AN MUl A AYS 2,700
—*5 1,000,000& * 12 Al 1,000
—ERS 700,000& 12 A 700
—&d 500,000& 25 A 1,000
OXA 488t & JI83 50,000 400 20,000
gI2tol & 30,000 0 30,000
SEMEE! 30,000 0 30,000
OMZxERZS & Mols0 2X=3
2,000,000& »15& 30,000
ol Ol AtZtE| 152,099 46,499 105,600
i) 44,819 44,819 0
JIZHNZ2XNsE = 44,819 44,819 0
OUHMes oIEY 44,819




SN B B2
Ha: NwsEozy 25
SRl AL RE AR =X (649l &2
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
e 35,5702 %1224 +902 38,416
-g28Y+y 35,5702 %128+ 152 6,403
201 Yereo| 1,680 1,680 0
01 AFR22/H| 1,680 1,680 0
OQIARI I3 5o &g 70,0008 x4 +63] 1,680
204 M 105,600 0 105,600
03 SHYL A 105,600 0 105,600
oo e s 50,0001 + 1628 x 122 97,200
oclzgyzed 10,0009 %12 * 122 1,200
O3 gyzed 50,0008 %42 +122 2,400
OUMEYBR 80,0002 *52 + 122 4,800
NBARETZS 28t 24gs] HE 22,000 22,000 0
203 R E Y| 22,000 22,000 0
03 AlBZEZ I @EA| 22,000 22,000 0
ONBER x| 22,000,00021 * 14! 22,000
=/ B0S AY2el)) Ul 20,000 20,000 0
307 12+0I 20,000 20,000 0
04 QIABALRE 20,000 20,000 0
OE7 0t AB LDl U3l
20,000,0002! *18l 20,000
INHZER 2Y 40,402 37,176 3,226
101 Q1214 40,402 37,176 3,226
04 JIAH2ZRSES 40,402 37,176 3,226
OJAMDET ABIEE ARSSS 37,402
—Ay=y 422,000,0008! *2.665% 11,247
PR 11,246, 00024 *6..55% 737
—=p13 422,000,0002! %4 5% 18,990
—-ng=s 422,000,0002*1. 3% 5,486
— AT 44,819,000 2. 1% 942
OJINH22R &= 3,000,0002! * 1% 3,000
DHO| ZEIIE U LA 438,896 244,855 194,041
2Ho ZElE U IH 308,800 97,250 211,550
201 Yereg| 64,800 70,800 £6,000
01 AL/t 64,800 68,800 A4,000
OJl=ipre| YeragH| 400,0002 122 4,800
OTRFAIZET ABIAEH 16,000,008 *141 16,000
OPBAMEN S| 10,000,0002! %141 10,000
OZFQ@EDN K= 20,0008 +2005+23] 8,000
OZQRAHHN R 10,000,0002! #1244 10,000




2N ZR7 520
Ha: Ngszez st
o9l RHO ZaIIE L LA (B9 &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES O AF K Ofl At ot HwsZ
OBFALAA 2L DA HE
20,0008 %2005 *4 % 16,000
202 01t 18,000 18,000 0
01 =Ly 01| 18,000 18,000 0
OPE A Z=F 01| 18,000, 0002 18,000
203 Y=Y 4,000 6,000 A2,000
03 AIZZREZY| 4,000 6,000 A2,000
OPEIIE L ot ABAREZY)
4,000,000 4,000
401 AE6IL S0 220,000 0 220,000
01 Al&H| 220,000 0 220,000
OFDULAYYI(S) 20,000,008 +11HS 220,000
405 XA+ S 2,000 2,450 A 450
02 SAPAL] 2,000 2,000 0
OBFN2A THPAY| 10,0002 x2002 2,000
ANES 8,400 8,400 0
201 Y2yl 2,400 2,400 0
01 AtRZelt| 2,400 2,400 0
ORAR2| YBr2gH| 200,0002 122 2,400
202 o1l 6,000 6,000 0
01 =401t 6,000 6,000 0
OAAMYAD ZTOIH 20,0002 x5 *5L 122 6,000
EE e 50,420 70,770 20,350
201 Yereg| 45,420 56,420 A11,000
01 AFR22/Hl 37,000 47,000 A10,000
OzPmel YLt 200,002 *122 2,400
OPHEBHAIR AZIIZ KX
800,0002 122 9,600
ORFAIM 28 2 21| 25,000,000 25,000
02 2B2Y| 8,420 9,420 A1,000
OPHEEHAIR SXB4 200,002 107 A 2,000
osaEY sz 200,0002 *122 2,400
OFBE R 200,0002 *122 2,400
CETENENE] 135,000 * 122 1,620
405 XtarE S| 5,000 14,350 ~9,350
NP EEEEE 5,000 14,350 A9,350
O&2T L FIS(CHA) 1,500,00021 *14! 1,500
O 2&8 0 Z0/0f(CHA)
1,500,00021 *14! 1,500
OAl - P SPAR BHES 2FE 22 (M) 2,000




SN BT SR
HE: XYY st
o9l RO BHIIE L LA (Sl &2)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
— =1 1,500,000 *14] 1,500
~QUE 500,0002 *14] 500
SAHTE ZA L 22 71,276 68,435 2,841
101 @24t 19,434 16,593 2,841
04 JIVH2E2HS L4 19,434 16,593 2,841
OSHEA ol 19,434
—FHIEA Y 2XA 22
46,7902 *4 ¥532 9,920
—FAIS U JARE 42,6709 7282 8,364
—dugEe ¥ 2002
9,919,480 %7 .34% 729
—MHEEE ¥ DERER
18,282,8002 2. 3% 421
201 Yot Y| 49,842 49,842 0
01 At 2ty 49,842 49,842 0
OS2 ZHIZA & 2XARE
44,6702 212 %512 47,842
OSHEZA PLET Auh28H|  2,000,0008 2,000
202 01t 1,000 1,000 0
01 2UH0iHl 1,000 1,000 0
OLSEA L SHZXET MO
20,0002 x2 & x252 1,000
203 HRFAY| 1,000 1,000 0
03 AlZZ=TQ R =AY 1,000 1,000 0
OAZEHZAN L2EFH| 1,000,0002 1,000
AI2IDE BHBHS XISRA =2 al 330,310 270,280 60,030
FOANIIME 2Y HHS 59,220 62,120 A2,900
201 LByl 48,240 53,480 A5,240
01 At 2ty 12,040 16,480 A4,440
O FUNXIME 2435 12,040
—FORXME 2 ALY
1,000,0002 1,000
AR MR
10,0002 1,005 10,000
S 4,0008%260% 1,040
03 A2 | 36,200 37,000 A800
OXELHS N 20,200
—XEYUES ) 7,000,0002 *13] 7,000
—XNEUT3
1,200,002 #1351 ¥115 13,200
OFQIRxICh 8 2 2ENE M
2,000, 0002 *42% 5t 8,000




SN BT SR
o NUHEAY gt
/\lD S

SRl A ot K2 AX SEd et (et =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
OF0XXEH 2435 f1et 23,38 Uzl
5,000, 000& *13] 5,000
OFURASAY 2 ALK DS
3,000,000& 13| 3,000
203 R4l 4,000 4,000 0
03 AIM=XHSLFEH| 4,000 4,000 0
O=F0IXXIHH 29 2t&3l 2,000,000 14 2,000
ORHME, NESALL 2tE 3]
2,000, 000& 14 2,000
301 LertEas 6,980 2,800 4,180
10 SAHAHIEA S 6,900 2,800 4,100
OXZ2H3 FIE 24 1,700
—FOXXIMEHE 100,000& «110HE 1,100
—SE3dHE 300, 000& 24 & 600
OO0l 8 ASLHSF
100,000& 110 S*22] 2,200
O XXl et&sl HAS 3,000,000& 13| 3,000
12 JIEtEA S 80 0 80
OFQXX gt&a Ast B8 It
2,000& «40H 80
ge Y HAW MEES AR 6,480 6,480 0
307 QI2t0IA 6,480 6,480 0
02 Qlta3aEx 6,480 6,480 0
OYY o HAH HCBE(Z23)
3,000 x30E »E 63|+ 123 6,480
AAseEl 29 N 264,610 201,680 62,930
301 YptBazg 210,610 195,680 14,930
04 NHELHUHI 2 210,610 195,680 14,930
OO0FA I 105,696
—AESYEH 3,000 x6H 1601 X| CH»312 89,856
—0HU L
3,000 x4 H «5J4 X| CH 264 L 15,840
O =l 1,200 *4 Al 2tx 1052 «21JH XI CH 10,584
Oon =l 60,0003 *695H 41,700
OSMEE 20,000 =214 XI CH 420
OF 4= kS g 100, 000& *22J4 XI CH 2,200
O==l 60,0002 141 XI CH+12& 10,080
Ogdil 24l 90,0003 221 K| CH+12& 23,760
O=2 UEZ 2,310, 0002 =7 XI CH 16,170
401 Al EHIL 201 54,000 6,000 48,000
01 Al&HI 54,000 6,000 48,000
Ooggxza =2l 2,000, 000% *3JH XI CH 6,000




FAN: S RN

RN
/\lD S

SRl A2 EMots XXX S st (9 E2
A -3 -H2A(SH) - HEAMY - BES O AFH giﬂgfﬁ Hlws2
OogtdxzA 44X 16,000,000 & =374 X| CH 48,000
FESA olZet 25 2 g2l 557,207 302,893 254,314
2SS4 Hdl FL 266,090 101,900 164,190
405 XH&HFSHI 266,090 101,900 164,190
01 A& 2B HSHI 266,090 101,900 164,190
O& AEHI(THAN) 123,600
—&FH 1,000, 000 *80CH 80,000
—2LUH 400,000& »30CH 12,000
—Z2IEHI|(ME) 790,000& »40CH 31,600
OJIEt=EXtat FHS(THAN) 142,490
— 2 BtE 30| 50,000& x50CH 2,500
—IPESII(ZEH) 400,000& = 10CH 4,000
— IPESI(E8) 187,000& *170CH 31,790
—£ FOME PETMAE(PS)ZE
3,600,000 *104] 36,000
—POE A& BB 2,200,000 = 16CH 35,200
—O0XIE AOEAO 5,500, 0002 *2CH 11,000
—0tg2 HOIESIOI 2,750,000 «2CH 5,500
—CIXIE HOIESHOl tE 2,750,000 *6IH4 16,500
AMEEH & S 2322 171,091 152,713 18,378
234l 165,691 142,313 23,378
22| bl 24,410 2,700 21,710
ZEYOH 2 7,110
MSL I A2010 +* €l (Standard)
237,000 »302 7,110
JJERS =SH(PEEEE)
300,000& »23| 600
B ABE 2 200,000& = 12& 2,400
28 LATES 2 bl 14,300
XIP G3(ctol 4l 110,000& =100 X 11,000
—XIP G3(0I=3t etolMA)
33,000& *1005+ M 3,300
332 ZH| 141,281 139,613 1,668
OgerEstad ALZ 110,000 *603| &« 12 79,200
OdHEHIY AIEZ 10,000 #3038 & 123 3,600
ONEIHEE 25,000 *1653| & =12 4,500
OCIHYASLAIE =2 25,0003 23| M+ 12& 600
OZNEESHAMHIA QI/SA
1,386,000 x13| & 123 16,632
O0lSH&s AtBE 63,0003 x2C+12& 1,512
OZaNS AMEZ 6,000& *10CHx12& 720




SN B
Z@: X

fe=)
ool e

20
B
2

OdetM3InE)| A2 40|
142,000, 000& *8% 11,360
OlPuE)| ¥ 2UEH SA 24|
54,197,000& *8% 4,336
OFESHEY A EH| 15,0002 *8003| &1 12,000
ORHA MAEXI(UPS) SXELHI(F,S)
47,923,500 *8% 3,834
OMEXZB A HSEH FXE=H
17,688, 1503 *8% 1,416
O |RXE=2H| 200, 000& =3CH 600
OAI&EE0ts CCTV S Al 12,126,000 *8% 971
202 (4 i 5,400 5,400 0
02 EHAHI 5,400 5,400 0
ONSSH ABHE LA B0ty
150,000& x3H « 12 5,400
dag=s RES /8 HES &5 120,026 48,280 71,746
201 LBt29H| 70,926 48,280 22,646
01 AP 22l 64,576 48,280 16,296
OAIBIEES g LA
30,0003 *139Al 2t 11& 45,870
OANSIEESINEE M 2¢
6,000 #4301 Dt A x30H 7,740
OLZTENH 7 10,416
—MS 1| A2010 ! (Standard)
237,000& 312 7,347
—st=2 2010 ¢ 99,000& *31= 3,069
OANRIEBSUNEE 29| 50,000& x11JH& 550
02 s=2494l 6,350 0 6,350
OANEBSNEE L REIPCY BEH KA
Z=H] 250,000& x12& 3,000
OMEE PC £=2lH| 50,000& =67 CH 3,350
207 S FOH | 15,000 0 15,000
02 M APHEH| 15,000 0 15,000
O3 & S F0IHE SHOIX HH
15,000,000& *13] 15,000
405 XHAFSH| 34,100 0 34,100
01 MY =S EF SHI 34,100 0 34,100
OASIEESNE MAWNSE MAZH|(CHA) 34,100
—2AEH(ZLIHZE) 1,100,000& *31CH 34,100
s2Hol HA2H 843,344 900,908 NbB7,564
HAANE &5 &£ SAES 670,039 665,694 4,345
S50l HArze 246,239 311,594 65,355




SN B3P 520
Hy: 58N FASY
SRl BANA BB 2 RNES EERED
SN EB -GS - MBAY - BES 0 & 24 e HRE2
201 YBr2 ] 246,239 296,344 A50,105
01 ARl 54,318 122,048 ~67,730
OFAHIXNES s27Y 7,000
LS 200,000 %57} +33] 3,000
—4835tE 20,0008 *507 +43] 4,000
O AFRA EH P 280,0008 128 3,360
OsNFE Y 35,0002 902 3,150
O2H¥2X 7Y 20,0008 x25 +12 480
OZANEZEY 7Y 60,0002 +4%5 240
Ol R Al Kol 80,0002 153 1,200
ONEBNA& TR 88 RS HN
15,0008 +20052 3,000
OHltl 2xt& 20,0002 x367 A+ 128 8,640
O4I1,BIIEHI| Ax=
36,0002+ 1404 £ #1228 6.048
OFTYE 448 15,0002 +8021 1,200
OMEeisl 25017 42| 5,000,002 *14! 5,000
ONFTE 2 B0 ZUI(ZALH ST OHYEE
S) 5,000,002 *14} 15,000
02 2B Y| 191,921 74,296 7,625
OBAFIINES RNBS 228 29
750,000 %122 9,000
OFAANSEES 231 X 7 5,000,000 «14 5,000
OFA 8t=a X2+ 600,0002 1002 6,000
OFA HoHI(TH,45) 430,008 * 128 5,160
OFA AWAIS QH&T2Hl 300,008 * 122 3,600
Ozl |Xz 400, 000! * 122 4,800
OSAIDIAAD By MEBE 50,0002 +13 50
OFA S| 9,000, 0002 * 128 108,000
OFA HIIANLE RXB4L 70,0002 *600kw 42,000
OFA 223 HAH L ASH|
2,000,0002! +23] 4,000
OFA HaZX L SUHHHSZ SZ 2 Ayl
100, 000! 1] 100
OFA HIAZEI| KX/ 130,0002 *128 1,560
OB2I HIIZAE 50,0002 %204 13| 300
OFBA I3 FAH) 15,0002 156.672& 2,351
BAMAE Lels K24 83,000 111,200 71,800
401 Al Bl L2 ohbl 83,000 111,200 71,800
01 Al 83,000 111,200 71,800
OFA HaHal W, Lgd| A2 2 822 U
E ZATA 13,000, 000! * 141 13,000




SN E/7 52
Mol 5EN0 HASY
SRl HANE BHE L 2K CrRL
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot Hws2
OFAL R5HAl W L] Wit Ma o &4
T A 2,500, 0002 * 14! %25 5,000
OAL 8132 85 WHMZAL 5,000,000 14 5,000
OFA JIHA 25 B4TA 5,000,008 %14 5,000
OFAIE (FSLE)HL 20,000,008 14! 20,000
OBAU =XALES B2IZ A 25,0002 +800M 20,000
OFAHY HZS DHMBAF 35,000,008 14! 35,000
O15 =8 ZAZ SIS
10,000,00024 *14! 10,000
OFA 24 S SHTA 70,000,002 *14] 70,000
223 2 MAl 240,800 225,900 14,900
201 LByl 240,800 225,900 14,900
02 ZTZ2H| 240,800 225,900 14,900
OFA &, 8 AL 23
7,000,000 * 122 84,000
OAN&E sANMRLS 1,800,000 %23 3,600
ON&2 DERYRLD 2,000,000% * 18] 2,000
OFA ®IIQtE TRl B8 48
700,0002 *122 8,400
O &#II23 9,000,0002! * 122 108,000
OHA A5t45 @2 2,900, 0002 * 122 34,800
BgxYy 2l 173,305 235,214 ~61,909
BEY 7Y 28,000 109,000 A81,000
405 XtarF S| 28,000 109,000 £81,000
01 RAUSEHSY| 28,000 109,000 £81,000
OBEXY T (M) 28,000
—38 seHERVEY)
14,000, 000! *2CH 28,000
nEY X2 145,305 126,214 19,091
201 Yer2g| 145,305 126,214 19,091
01 AtR2elt] 4,900 0 4,900
ONETS % HOF Bl (X2)
100, 00024 *49CH 4,900
02 ZTZ2YH| 140,405 126,214 14,191
ORNSX 282 700,000 +33CH 23,100
ORE XA 3,395
-z8x 200,000 *4CH +23] 1,600
-Zzex 65,0002 *11CH 18l 715
—z8 o a2 60,0002! *18CH * 1] 1,080
ORSX HAH L BUFY 242 2,130
- PIEE 40,0002 +330H 1,320
—yuEY 45,0002 * 18CH 810




SN YD B2
FH: S X0 FA2Y
ool BEIY B (ool @
SN HH G (EH) - MBAY - BYS Ak Soe s
OstBMNEREZ 80,000 »18CH*23l 2,880
OxX&=Atl 3,300,000 *33CH 108,900
HH2IHU(Z? S2) 17,670,577 17,765,307 294,730
= 88,755
Al 17,581,822
olE2AY|(BZ) 17,353,517 17,514,092 A 160,575
= 88,755
Al 17,264,762
A2 A| 17,264,762 17,437,516 A1T72,754
101 Q14| 15,439,215 15,467,246 A28,031
01 B+ 13,791,269 13,867,206 AT75,937
osa 7,341,980
—4g 5,501,500& * 1 »12& 66,018
—5= 2,961,300 x 198 x12& 675,177
—6= 2,427,400 x62H x12& 1,805,986
-8 1,907, 1003 x 120 128 2,746,224
—8= 1,273,500 *47H 123 718,254
—9= 973,900& «30H »12& 350,604
—Jls6a 2,485,400& x1E x12& 29,825
—Jlsra 2,132,700 x17Z *12& 435,071
—Jls83 1,888, 100& x 19 123 430,487
—Jls92 1,465,2003 x4H «12& 70,330
Jls102 1,167,000& x1Z 123 14,004
O&2=+¢ 7,341,980,000& =1/ 12%96% 587,359
(OFSRLESS) 704,452
— === 224,712
HH < Kt 40,0003 3218 +0. 75+ 12& 115,560
JIEIHS 20,0002 *321H *1.30x12& 100, 152
MM IHOIA =It=2
30,0003 x25Z 12 9,000
—AHE =S 93,580
Eelgn 51,990& 321 *0. 15%43| 10,014
Ssh 433,880 321 *0. 15%43| 83,566
—S05d=E 500,000 x15H =12 90,000
-2 Itz 270,720
20401 & 100,000 x112F x12& 134,400
15801 &4~20 018t 80,0002 «8B4H 123 80,640
- 10890l &~15E 0|8 60,0003 »34E 128 24,480
5@ 0l &~10& 0] et 50,0003 52« 12& 31,200
—d2=E FIHts 25,440
25501 & 30,000 x50 123 18,000
208 0| &~254012F 10,0002 «628 128 7,440




M BT 520
MM HHSAAH|(ZERF EL2)
S©e: olHESHH|(sZ) (cte- &
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
Osxg224 30,000
—J|=g2xg 17,640
o T=1 50,000& x4H =128 2,400
6,72 30,000& »27H x12& 9,720
- 820l ot 20,000 x23H «12& 5,520
—J|=g RS2 12,360
IDN; 30,000 x27H =12 9,720
AR DAL 20,0003 x11H~12& 2,640
ONSHSH L ZH YR+
40,000& x 178 x12& 8,160
Oz 40,000 x10H ~12& 4,800
O&ALHIISsTE) 38,000& x1H*12& 456
O LG 30,000& *x70H x12& 25,200
OS2 (3H0]4H) 50,000& x2H «12& 1,200
Os 2824 70,000& x101E 122 84,840
O8I 522 43,584
—Jls7= 56,1753 *4H x116Y 26,066
—Jls8= 50,337& *x3H x116Y 17,518
OSHIZEA A2t 49,675
—Jls7= 7,457 *4H *4 | 2Ex249 L 29,709
—Jls8= 6,682 *3H *4 A| 2+x249 19,966
OA 2t =& 1,428,956
—5= 9,796& *19H *50A| 2t 12& 111,675
—6=2 8,312& x62H *x50A| 2t 12& 309,207
—-72 7,4573 % 120H *50A| 2t 128 536,904
—8=2 6,682& *47H *50A| 2t 12& 188,433
—9=2 5,993& *30Y *50A| 2tx 12 107,874
—Jls6= 8,312 x1H x50A| 2tx12& 4,988
—Jls7= 7,457 3 172 *50A| 2t 12& 76,062
—Jls8= 6,682& *19H *50A| 2t 12& 76,175
—Jls9= 5,993& *x4H «50A| 2t 12& 14,384
—Jls102 5,422 x1H *50A| 2t 128 3,254
O0IAZSHE A2t =2 49,232
-2 2 35 28,650
- 62 8,312 »1H *x9A| 2tx52L 128 4,489
- 73 7,457 3 *2H *9A| 2% 152U x12& 24,161
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9,240
28,560

= H A

301 LetEH= 92,400 67,200 25,200
54,600
9,240
28,560

= M A

01 A2 X463 92,400 67,200 25,200
O} 0ts $=Hl X& 92,400,000& 92,400
54,600

9,240
28,560

= A

ZA0LES SAKA(EY X, 5, A4l) 1,705,000 1,967,855 N262,855
377,245
426,250
901,505

= H AL

301 LetEaz 1,705,000 1,967,855 N262,855
377,245
426,250
901,505

= H A

SR 1,705,000 1,967,855 262,855
IS AN (BYE, 5, 44)

1,705,000,000& 1,705,000
377,245
426,250
901,505

= H A

(gats =4 787,500 140,592 646,908
106,888
680,612

= H

301 LetE2H = 787,500 140,592 646,908

106,888
680,612

=z H

01 Ma2EH 6= 787,500 140,592 646,908

787,500,000& 787,500

106,888
680,612

= H

ZA0ls SAXNJA(E- L - 35 54) 138,341 359,500 A221,159
138,341

H

301 Let2a= 138,341 359,500 N221,159
138,341

H

SRSESES B 138,341 359,500 N221,159
A

138,341,000& 138,341
138,341

H

XNSotsdlE 2gHl X& 625,476 559,500 65,976
312,738

W
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B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
& 156,369
Al 156,369
307 QI2t01HA 625,476 559,500 65,976
= 312,738
& 156,369
Al 156,369
10 ABISXEZR 625,476 0 625,476
OXNZotsdE 29 K& 625,476,000 625,476
= 312,738
& 156,369
Al 156,369
AN0ls 54 11,300 10,600 700
201 23| 10,200 9,400 800
01 AtR2t2ldl 10,200 9,400 800
OR0t & ezt Ler=FH| 2,000,000& 2,000
Odu=s & HEz3z s ZAY
150,000& *202] 3,000
OO0tSF0IWa ZA+Y
30,000& 20t S *2 Al 2+x202] 2,400
OO0ts#H0Ina M=l 20,000& »2 0t =+202] 800
OEsEXaAl S¥ PEYE 23
250 4,000 23| 2,000
203 HRF&H| 1,100 1,200 A 100
03 AIMMF&HRF=EIH| 1,100 1,200 A 100
OXNGotsdEH 23X 2tE 3
20,0003 x25H x13] 500
OESAE g3 2tE3l 20,0003 *30H 13| 600
SHE2 Jtd K& 1,264,985 924,884 340, 101
= 682,519
& 178,702
Al 403,764
MASs SR (A2, 428X (HEEHIS) 815,746 591,230 224,516
= 624,456
& 78,057
Al 113,233
301 LEtEAZ 815,746 591,230 224,516
= 624,456
& 78,057
Al 113,233
01 MI2EE X6z 815,746 591,230 224,516
OMAS S22 (A2, 428X (X
Y|, & 2,0l s ¥ =4l) 815,746,000& 815,746
= 624,456
& 78,057
Al 113,233
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SA ¥R UMY
HE: L X

Sl XA

SNBSS - MEAY - BES 04l &k 24

=1

(R

121
==
El
i
oy

Al 8,138,339

NAS TS 483X 1,510,670
9,100
9,292

285,796

1,206,482

1,510,040 630

= Hl AL JY

JIZMESE Lot AsHE 280,000 240,000 40,000

80,750
199,250

= H

301 et Az 280,000 240,000 40,000

80,750
199,250

=

01 A2 H +06l= 280,000 240,000 40,000
2% e+ FstEdl X2
50,000& *1, 1204 CH <53 280,000

80,750
199,250

= H

Z2AY Ragal & 950, 170 989,240 239,070

149,074
801,096

= M

1,120

2,240

A1,120

=& 70,0003 x8H *23]

1,120
1,120

2,240

21,120

=

949,050

149,074
799,976

987,000

A 37,950

A&

3,000&+1,150& 240

3,000 100 «300&

=

=

949,050
949,050

859,050

134,074
724,976

90,000

15,000
75,000

949,050

NAS Mot ol AABHE

= HHD J

52,500
9,100
9,292
12,640
21,468

54,600

A2,100

307 2120l A

= Hl A WY

52,500
9,100
9,292
12,640
21,468

54,600

A2,100

52,500

52,500




SN ERT FUMBAD
T X

HE: Lol =X S
Ol HAS OIS MEOEIN (e @
_ _ HE T
SA BB H(BH) - MBAY - B2 O A+ 24 il b o B2
OMAS MIH=Ol ALAL B ]
3,00021 +70% *2502 52,500
= 9,100
= 9,292
= 12,640
Al 21,468
AR MG FHAR Q2| 163,200 163,200 0
= 43,002
Al 120,108
307 2120/ H 163,200 163,200 0
= 43,002
Al 120,108
EENEES 163,200 0 163,200
OFZAY FAE 2121| 163,200
— AL Q1208 1,000,0002 %80} A * 12 96,000
= 25,424
Al 70,576
—ZF2lAb eIl 700,002 *87H A *122 67,200
= 17,668
Al 49,532
SEFEAY 2HUHIE NV 58,800 58,800 0
307 2120l H 58,800 58,800 0
IRCEEES 58,800 0 58,800
ORBARAY HAQRE L ZRL3
300,002 *77H A *122 25,200
ORBARALY NAZAHSY|
400,0002 *70H A 128 33,600
CoIAYTE 6,000 4,200 1,800
= 240
Al 5,760
301 YstPAS 6,000 4,200 1,800
= 240
Al 5,760
01 AtEIEZ X253 6,000 4,200 1,800
OwoIAY met 100, 00021 60 6,000
= 240
Al 5,760
Z220 L NIBOES =0 340,500 292,560 47,940
= 28,200
Al 312,300
Baag N 133,200 108,000 25,200
301 LBAID 133,200 108,000 25,200
01 AtEIBE X253 133,200 108,000 25,200
OB44g 30,0002 #3702 * 122 133,200
SOl AR 121,200 9,960 24,240




S BET FOMBAD
Hu: Lol 2X S
CHoll FR2[ L ABBOES =Y EER-ED
- _ — HdE T
SA B RI(BH) - HRAY - BAS 0f - o i bl m =2
< 4,800
Al 116,400
301 LprEAS 121,200 9,960 24,240
= 4,800
Al 116,400
01 AFBIE =453 121,200 9,960 24,240
ool A 121,200
—At®) EOIX ZALE  200,0008+50% « 128 120,000
= 4,752
Al 115,248
—AEEE 120,000,0002 10/1,000 1,200
= 48
Al 1,152
22 ABIZEAS S| 81,600 81,600 0
= 23,400
Al 58,200
307 QI2H0IH 81,600 81,600 0
= 23,400
Al 58,200
10 ABISREE 81,600 0 81,600
OZEY AslZA2SH|
100, 0002 %687 4 * 122 81,600
= 23,400
Al 58,200
COSXAIY BE XX 4,500 6,000 A 1,500
201 Lere gl 4,500 6,000 A 1,500
01 At el 4,500 6,000 A 1,500
OLQ=XAY 8 1,000,000%! x23] 2,000
OArZol QHMER M= 50,0008 *50% 2,500
o 29 L B2 605,558 819,950 ~214,392
= 31,341
Al 574,217
2Y 294 X2 355,088 283, 150 71,938
= 31,341
Al 323,747
301 LetEaa 70,000 0 70,000
01 ABIE &= 2512 70,000 0 70,000
OZEY FLAH X 70,000,000 70,000
307 BI2t0IA 285,088 283, 150 1,938
= 31,341
Al 253,747
10 ASISREE 285,088 0 285,088
OZ2Y 2% . vl X8 285,083,000 285,088
= 31,341
Al 253,747




SN ERT FUMBAD

Ha: ol =X E&

ol Y2Y 2y o e (S5 &2)
SN EB -GS - MBAY - BES 0 & 24 e HRE2
AZY BAMAAY 126,740 123,210 3,530

201 Yer2 Y| 58,740 55,210 3,530
01 AtR2elt] 58,740 55,210 3,530
OFYZY NEFHIRNY 37,400
—F2Y F4I| NB2
17,0002 100CH 122 20,400
—F2Y SERN B2 250,000 <681 & 17,000
OY2Y S 28Ity 200, 0002 *320H £ 6,400
OAZY AHY AHBE 14,3002 +500 A 122 8,580
OFE2Y BANLSLLZ 15,0008 124 £ 23] 360
OF2Y HEE 4Heltl 150,000 <2404 2 3,600
O2ss B2Y aHel Nl
200,000 *122 2,400
401 AlEH L2 68,000 68,000 0
01 Al&| 68,000 68,000 0
Oz N2 1,000, 00021 #6874 2 68,000
Y2Y 22 o 2577 23 20,460 269,520 249,060
405 Xtorz S| 20,460 269,520 249,060
01 XHAYLSEFH S| 20,460 269,520 249,060
OY2Y SE(MA) 19,660
—JtAoIx| 240,0002! x2 480
-CLIES 1,200, 0002 ¥4 4,800
—43D 7000008 %1% 700
Ll 1,000, 0002+ 1% 1,000
~2EE(2UEHEZE) 1,400, 0002 3% 4,200
S EBIP) 1,600, 00021 1% 1,600
—0jlof 2 1,500,0008! %13 1,500
—z 40 1,000,0008! %47 4,000
— 3y 300,000 +2 600
—2ZHE 200,000 *3% 600
k=] 60,0002 x3% 180
OFEY 2SR (MR) 800
—ATE A 500,00024#1CH 500
— 2 OHARKI D] 300,000% * 14 300
A2Y 2 HH3 ALY 70,630 70,630 0
201 Yer2g| 630 630 0
01 AtR2elt] 630 630 0
ORI2tRIE HAAASIRE MASY
70,0008 9% 630
307 QI2H0|H 70,000 70,000 0
05 QI2t9IErz 70,000 70,000 0




SN

el

=
=)
L
2;]

CHIEAY - BAS

[
2

=2

B
2

AFE 35,000,000 *2JH A

70,000

—

d2E 1H0lu4

32,640

32,640

307 2120l &

32,640

32,640

10 At2ISXEX

O1Z224 1501

[=}
T'__%:‘

40,0003 «68 4 A+ 123

32,640

32,640

32,640

= H W

15,113,350
7,556,675
1,511,335
6,045,340

15,113,350

= MW

15,113,350
7,556,675
1,511,335
6,045,340

15,113,350

= HnH

15,113,350
7,556,675
1,511,335
6,045,340

15,113,350

15,113,350,000&

= HnH

15,113,350

15,113,350
7,556,675
1,511,335
6,045,340

15,113,350

= Hl AL JY

2,194,920
460,000
190,000
264,460

,280,460

3,508,950

A 1,314,030

0K
0K

= H A

,274,920

190,000
173,400
911,520

1,264,350

10,570

= H AL

,274,920
190,000
173,400
911,520

1,264,350

10,570

101 @1AH

= H A

,161,320
190,000
154,000
817,320

1,151,230

10,090

04 JI2+H|

& 1,161,320,000&

= H A

,161,320
,161,320

190,000
154,000
817,320

1,151,230

10,090

201 LEt=gH|

5,000

5,000




>
=

SN
X XH .
S Tt

el

=
g2
0
e
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ri0

SH M HA(FA) - HRAE -

0x
I
=
[
12
2
R
12
o
£l
0l%
IS

el

800
4,200

=

22l 5,000 5,000 0
OZ232ZAY el 5,000,000& 5,000

800
4,200

=z H

202 O4dl 3,600 3,120 480

600
3,000

=z H

<
H
=

a]] 3,600 3,120 480
O4Hl 150,000 =2 «12& 3,600

600
3,000

O
0B
0 2
ru
Hu
=
)
1
£

=

206 M= dl 105,000 105,000 0

18,000
87,000

= H

=4l 105,000 105,000 0
OZ32Z At A bl 105,000,000 105,000

18,000
87,000

= H

AP FA 920,000 2,244,600 A 1,324,600
460,000
91,060
368,940

= H W

ANEESH LA 920,000 0 920,000
460,000
91,060
368,940

=N W

101 Q1] 738,000 0 738,000
369,000
73,060
295,940

= HnH

04 JIZHMIZ2XNSE =+ 738,000 0 738,000
OXNASSHLUEIAE LAIASE 212
738,000,000& 738,000

369,000
73,060
295,940

= N W

201 LetE&l 4,000 0 4,000
2,000

390
1,610

= Hn N

01 At 2t2iHl 4,000 0 4,000
o

4,000,000& 4,000

2,000
390

o




SN B FOUMBXAD
Hm: g 53 Y o4
el A HET (el &2
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
A 1,610
202 OiH| 3,600 0 3,600
= 1,800
= 350
Al 1,450
01 =2Uioibl 3,600 0 3,600
ONHBSHLM2IAY BAS ZT 0|
150,000 %224 * 122 3,600
= 1,800
= 350
Al 1,450
206 T2 174,400 0 174,400
= 87,200
= 17,260
Al 69,940
IR 174,400 0 174,400
ONABESALT2IAL U7 (HUIY X2
mg) 174,400,000 174,400
= 87,200
= 17,260
Al 69,940
ABIETYS = Lpt 8,800 7,600 1,200
ZOMEXE ABE 8,800 7,600 1,200
NS NETES 8,800 7,600 1,200
201 LByl 7,000 5,800 1,200
01 Aty 1,000 1,000 0
OFMSNABY AB4SH 1,000,008 1,000
02 IT2YH| 6,000 4,800 1,200
OFVMENN Y AREF SHRS
500,0002 122 6,000
203 HRFAY| 1,800 1,800 0
03 AlZZ=TQR =AY 1,800 1,800 0
OFIMEXE AEZ 1,800,0002 1,800
HHLSYAY (FHT FUMSXRADL ) 98,280 73,200 25,080
o= 2l 98,280 69,000 29,280
o[ CE-TE 98,280 69,000 29,280
201 Yot | 43,680 33,120 10,560
01 At 2ty 43,680 33,120 10,560
oRMeg 60,0002 %2881 x 122 20, 160
ozl 70,000 %2881 x 122 23,520
202 01t 50,400 35,880 14,520
01 =2Uioibl 50,400 35,880 14,520
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A S EHuSH
al

HH: 4K oA
Sl OINEY U HRRESRNEEY (el &2
SN HH G (EH) - MBAY - BYS 01l &k o Soe s
SE ZHusSH 57,600 55,235 2,365
OlUX etd & Z5 e 2,400 2,400 0
WLURKES & ARRSENSY 2,400 2,400
OlHXIESE & JtACtE B8 2,400 2,400 0
201 B3| 2,400 2,400 0
01 AtE222lHl 2,400 2,400 0
OiAotduNsE =< 70,000& *102 700
OE2=MA 1,700
—8s=0 100, 000& 22| 200
—=E2=2 5,000& *3005 1,500
HY2IZU(ZA? FHMLSH) 55,200 44,400 10,800
Jl23| 55,200 40,200 15,000
Jl=3| 55,200 40,200 15,000
201 et 31,200 23,040 8,160
01 AR 22| 31,200 23,040 8,160
ORMZZHI 60,0003 »20H 122 14,400
OJ12= &l 70,0003 x20E 12 16,800
202 (4 H| 19,800 17,160 2,640
01 =Wl 19,800 17,160 2,640
OJl=g =80t 150,000 «11H 128 19,800
203 HRF&H| 4,200 0 4,200
04 BA2 &ly| 4,200 0 4,200

Sf=4dl 350,000 «12& 4,200




SN ERT BAAMD
HE: RS CABY T4
Sl HAHE (Sl &)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
EAT BAAYD 16,007,846 14,632,764 1,465,082
2 28,661
= 22,049
Al 16,047, 136
MR SASH T4 9,646,443 8,959,554 686,889
=PS T 9,646,443 8,959,554 686,889
2 HA 153,373 35,970 17,403
201 Lur2 | 137,323 127,870 9,453
01 ALR eIt 14,923 15,070 A147
OBZ0IaHY AAIFEBE| (B2
3,002 x34% * 122 1,551
OsF0lsY HABE HEE
4,000 +34% * 128 1,632
OZAXDX X2 20,0002 * 128 1,440
OIS QASOHAILEY RTI2L
1,500,00024+14! 1,500
OZA#Y JIELSH| 300, 0002 * 122 3,600
OFA#T 222 M  1102+30,00004*15 3,300
OUEHIIE M ME
1002 *5, 00004 *13] 500
OIS MAAE XY AX2
700, 00021 #1CH*23] 1,400
2 TZ2H| 122,400 112,800 9,600
OZZ22 % Al 10,800
~HAMY BT3B (2YES)
900, 0008 * 122 10,800
Oxte Heth] 111,600
—¥AXY 22 500, 0002 * 10CH * 122 60,000
—HAXY XTI 430,000 «100H* 128 51,600
203 PREWY| 2,750 2,600 150
03 AlMETAR=TY| 2,750 2,600 150
O&A05Y 2423l 2,000,000%! 2,000
OZAUSBAH 2T 23
25,0002 *57H & 1l 323 %23 750
401 AIEHIL 2O 0,000 0 10,000
01 Al 10,000 0 10,000
OZ0I8t¥ &H &X 5,000,000 272 10,000
405 THAHE St 3,300 0 3,300
01 MAUSEH S| 3,300 0 3,300
OBARIX FIRY(MF) 2,300
— AT 400,00021 x20H 800
—SR 200, 00024 *1JH 200




2N ZAT BZIAMD
I R CABY M
Sl HAHY (B9 &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
—NEE 250,0002 *27H 500
— 200,0002 x2JH 400
—ox 200,0002 x2H 400
00|32 2B BIE2 M)
500, 00024 *2H A 1,000
NP 8,734,111 7,979,380 754,731
307 212H0I 8,734,111 7,979,380 754,731
05 DI2tSIErD 8,734, 111 7,979,380 754,731
OXEA Ha 2l 8,651,716
—MEHIIZ Hell
2, 7239 255,647 * 122 8,353,502
—~EHIIZ Maltl 6,508 3,82321x128 298,194
OSASRHIIZ ME84HEI SZRAMEIA
6,242 x50} x35| 62 82,395
MBI REEI| X 10,200 13,830 3,630
201 Yereg| 9,200 12,830 A3,630
01 AFR2r2/Hl 9,200 12,830 3,630
OMBIIZHSI| G2 U XZ)|=& |
7,000 +202 5% * 122 8,400
OSHEI| of2t 2HSII0s 22279
200,000 *4% 800
301 YR A 1,000 1,000 0
12 JIEHR A2 1,000 1,000 0
OMYIISHEI] MDA 10,0008 *1002! 1,000
BANNL0 2Y 704,085 713,940 A9,855
301 YerEAa 704,085 713,940 A9,855
10 BAFAHIE A2 704,085 713,940 ~9,855
OAHE B0l AHI24
9,00021 +3652 x211! 693, 135
OAHSANZ0 222 A 30,0002 3652 10,950
MEHIIZ WES 0,190 73,250 63,060
201 Yereg| 4,950 4,900 50
01 AFR2r2/Hl 4,950 4,900 50
OHJIZ MES 222 MA 7502 +6,6000H 4,950
206 T2 5,240 68,350 £63,110
01 T2l 5,240 68,350 ~63,110
OHABE 7Y 420,0002 « 122 5,040
OFAXY SHBUE 200,00021 * 14! 200
s 22 34,484 43,184 ~8,700
201 Yer2g| 34,484 43,184 ~8,700




SN ERT BAAMD
o IR CABY T4
Sl HAHE (Sl &)
SA-EFH - SA(SAH) - MREAY - BES Off &F K a4 Hws2
Off &F OH
01 AR eIl 34,484 43, 184 £8,700
O0I0ISABHAR LSS
23521 %15,00021 € / 182) & & 13 % 43 10, 184
ONYSIZATASEX
100,00021 1974 A +122 22,800
OMYSHZA OHYBH MIX 300,000 #50H 2 1,500
ReiEy 25 248,899 233,945 9,954
B2 L NoiRS 248,899 233,945 9,954
B2y 22 147,300 119,820 27,480
201 Lpr2 | 31,620 32,420 A 800
01 AR eIt 13,700 13,600 100
OBZES L IR E22 M 6,000
825 22 ME  1,000%+5,000% 5,000
—EMEl & P2 1,0002*1,00004 1,000
OS2 YHIH ¥ oz 2Z7Y
2,000,000%! 2,000
OEMHZE o NSYRE 2FH B2 222
2| 1,000,0002 1,000
OHIAPITI SN AR U 28X HEIIA &
2 1=l 1,500
—xg= 200, 00021 +5& 1,000
—xeiat 100, 00021 #58 500
OXNEX WEIA FUAAN DS S= DX
R 1002 *43|8,00021 3,200
2 22| 16,820 17,620 800
OZZ23 % Al 12,320
—EMHSE BRO3 4,320
B2 E +5 23 60,0002 * 122 720
B2 E ®I|Q3 300, 00024+ 122 3,600
—2X WEIA FUAA DHE S5 1
AA 28 LBERE  250%%43]+8,00021 8,000
ON&RH SN 1,500
~XSX WEIA FHl S
10,0002 *2CH #35] 600
48 WSS U XY
10,0002 *3CH *33] 900
OEMHZE o RSYRE RN 22IH(7H) 3,000
—HYE SR 300, 00021 *64] 1,800
~NSYEZ L 2UE SR
300, 00021 *44] 1,200
03 A2 Y| 1,100 1,200 A100
OENRE ZASE 100,00024*112] 1,100
203 PR =Y 1,000 0 1,000




A BT BIAMD
& osEd B
chel: sidmel 2 NelRs (el m
SN HB SR (BIH) - A - B S 0l &b S D=2
- T - = S = &= 0:”/&,% WS
03 AZFXHRFAH| 1,000 0 1,000
OHI&tE X & SE2ESAYE 2 243
20,0003 x25H »23| 1,000
206 M=l 54,000 30,000 24,000
01 M=H| 54,000 30,000 24,000
OEMEE &5 M2 At 54,000
—EME Y ¢ 4,500& *7,200 £ 32,400
—EMEMHE 2 2,000&%10,800 £ 21,600
301 EtBA = 1,000 1,000 0
12 JIEtE2 4= 1,000 1,000 0
OZ2END Ba3 1,000
HERES HEI =0 HEes MDA
= 50,000& » 1024 500
—AMNESXS HEM=20 oiEote A D24
= 100,000& 524 500
401 A EHIL 204 43,680 16,500 27,180
01 Al&t| 43,680 16,500 27,180
OEMEH2F & 28F At 70,0003 624 & 43,680
405 AHoHESHI 16,000 6,300 9,700
01 XYL S SFSHI 16,000 6,300 9,700
OUA=FEI (&l 77) 16,000,000 *1CH 16,000
3 s ¥ 23 26,000 28,300 22,300
201 etHH| 22,600 24,300 A 1,700
01 AtER22/Hl 20,850 22,100 A 1,250
OZHES W2 20,400
—SZANEEn LA
40,0003 x3H #7032 8,400
—EZNEsn 52 HE
8,000& *1,000% 8,000
—S3MEgstn 22HE E2= MA
3,000 *1,000H* 15 3,000
—SZNEsn 2HEESE 7Y 250,000 x4F 1,000
O0==Es g8 s+ 90,0003 *5H 450
02 =234l 1,750 1,800 AB0
ozz23 2 MA 1,750
—0t2 EZMEsn X 2
1,000& 35 +x502] 1,750
203 HRF&H| 1,000 1,000 0
03 AEFIHRFAH| 1,000 1,000 0
Ostzded 2= 1,000,000& 1,000
206 M=l 400 0 400
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OOFMZS SAXIS S Wl 2,000,0002 2,000
BLNERYS 2B L 2o 75,599 9,825 ~15,226
101 2121t 24, 144 26,730 A2,586
04 JIAHZERNS24 24,144 26,730 A2,586
OBZNH2SZ ALS ZARY L o
RIE e 24,144
-J=3 35,5709 * 14% %202 23] 19,920
-R3EL+Y 35,5702 * 142 x4 523 3,984
—NTREE 23,904,000 «10/1,000 240
201 LBt ) 51,455 64,095 A12,640
01 At 22lt] 16,340 14,730 1,610
OBFHLLES DA R0l 13, 160
—EHYNERLYS BIIE  70R+29,00021+23] 4,060
—EHYHHPEZ SEE  702+65,0002+23] 9,100
OSZDAN F2S M= 2 2¢
352 +30,00004 x23l 2,100
OBZNERES YRty 222 MY
20,0002 2% %23 480
OBFNHLLE DA AME EH 7Y
600, 0002 *17H 600
02 IT2YH| 35,115 49,365 ~14,250
OBINLULLIDNNA 2 BRI 35,115
—SoI2H 1, 7502 %1502 %25 525
—So|9H vsE 1,5002 ¥3024 %23l 90
—FI2 Yprew 25091 %29, 00021 %23 14,500
—S52 Yoo 25091 %40, 00021 %23 20,000
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AZ Y BERAY B 98,728 106, 380 AT7,652
M ES MR 93,728 95,880 ~2,152
201 LBt 36,028 38, 180 ~2,152
01 At 22lt] 31,028 33,180 A2, 152
O MR HAIQI4 1002 10Z5+2, 00004 2,000
OMSSHY 2 AZAMRY S22 NN
5002 *2, 00004 1,000
OZSACAdl BE 020 FNZ 2o
2,000,0002! +25] 4,000
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2A: SEP S3ALD
M AMAHH
HR AS 2 SS9y dE (&9 H =
= o dE T =
SA-ZH - S2A(3AH) - MEAME - HES Off & 2K Ol Ak O Blus
201 &et2dY] 2,000 7,500 A5,500
01 AtR2teldl 2,000 7,500 A5,500
OZg=gga g2 ddE e
200,0002 *107H 2,000
301 LetEHd=3 3,000 3,000 0
12 JIet24a =3 3,000 3,000 0
OHllsSALZAIY &S Atelltl X2
40,0003 «252 x3LH 3,000
C A=A 3,753,217 2,719,394 1,033,823
CAsE & =X S22t I 3,753,217 2,719,394 1,033,823
sAAME=E =A 2l 664,713 1,018,457 A353,744
201 et 10,000 10,500 A500
01 AtR2eldl 10,000 10,500 A500
Oogxz 10,000
—SXH(SFEHl) X2 500,000& »20CH 10,000
401 A& HIL S CHI 654,713 1,007,957 A\353,244
01 Al£Hl 649,507 1,000,542 /351,035
Os2d2 S sAANE=E |A2LUSA
140,000,000 * 144 140,000
OHEUZ S sSAAEE SRS A
150,000,000 *14] 150,000
O3HZ S sTANEES |AZLSA
140,000,000 * 14! 140,000
OYUA NE=IU S sSAANEE FA2eS
At 90,000,000 *14{ 90,000
O4UY NE=sIH 27 HXSA 55,507
—HEUREE 53,810& *230=F 12,377
—u=sdy 29,4001 +1,467F 43,130
OSZJl Satzs Lololegd 2SAE EXSA
10,000& *2,000m 20,000
OMali?Ie == MASA 135,000 «400== 54,000
03 Al&=0HH 5,206 7,415 N2,209
OSY2 S SAANES 22I3M
140,000,000 %0.72/100 1,008
OHEUZ & SAAEE 22ISA
150,000,000 +0.72/100 1,080
O3Hz S sAANES 2eSA
140,000,000 %0.72/100 1,008
OdU&E NE=XIU S sSAAES 2cSA
90,000,000 *0.9/100 810
OMUY NE=SIH 27 HXSA
55,507,0002 +0.9/100 500
OSZJl Satzs Loiolgd 2sAE EXSA
20,000,000&=1.08/100 216




2N ZAT BZIAMD

I‘IiH: _l‘:_}\l‘_-_nz‘il.}\ %-I
@Rl TAl=E € =sA 2 4 (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
- T o= ° - [EEMREECES &= 0:”/‘l|_% WS
OMolRE == MHSA
54,000,000 *1.08/100 584
2= 2 F= 72 555,574 805,709 A250,135
401 A &HIL 204 555,574 805,709 A250,135
01 Al&t| 550,995 798,724 N247,729
Otz SRl A 107,509
— WOt A 5,370 *1,584=F+32] 25,519
—MEIX 4&8E &S 28,000& =1,000= 28,000
—d=sEd o 395,000& »100=F 39,500
—ZEX PA 241,500 x607 14,490
ONZUZ S )2+ L T34 HoIS 2H
A 120,000,000& 120,000
Oz S 2+ L =Z= Holls SH3A
90,000,000& 90,000
OHBLS el M3 A
5,390& *1,336+*23] 14,403
OHdEUlZ s 2UR |RA2CISA
56,380& x1,567= 88,348
Ox8=2 8 2UR SX2H2SA
56,3803 *1,228=F 69,235
OHSBUSR Jt2+ 8FZAL 60,0003 *1,025% 61,500
03 Al&Z=R04Hl 4,579 6,985 A2,406
OJtZ2= XN SA
107,509, 000% *0.72/100 775
ONEUZ S )2+ L T4 HoIS LM
At 120,000,000 *0.72/100 864
O%22 £ 124+ Y XA+ NS LUIN
90,000,000& *0.9/100 810
Oddlz 8 AUR SAAEISA
88,348,000& *0.9/100 796
O=2g S ALR SAZElSA
69,235,000 *0.9/100 624
OWBELS 2iEal SHSA
14,403,000 *1.08/100 156
OHBUR J2s B
61,500,000& *0.9/100 554
tz2etd |X 2 138,926 162,837 223,911
201 Let2dH| 15,351 15,351 0
01 AtE22/Hl 6,400 6,400 0
O=sX8dE 228 MA(AUZ, 0L, 822S)
5,000 *2000H *43] 4,000
O=sXdd JlEt =2l 200,000& «12& 2,400
02 =234l 8,951 8,951 0
OA&&EHl |Xdl 8,951




A SET I
ZH: TAI=SSALY
I. |

=2l EA=ss € =X S2 i (&9 &)
S BB SR (B) - NEAY - BAS 0f & o Soe DB
—=X&H |Xze & FFHOIHE S)
300,000 x12& 3,600
— =2 IMIl sX2eldl 5,351
SRO(ER) 1,469& *802| & 202! 2,351
=2/ dl 200,000& »33! 600
Se e 8,000 30074 2,400
206 M=l 35,200 40,200 25,000
01 M=Hl 35,200 40,200 /5,000
O=XA&22 25 7(8, 4,32 S)
75,0002 x105+102 7,500
7IE g 7 7,700& *1,000% 7,700
OOt x=3ts 2 2,000 *10,000= 20,000
401 AIEHIZ R0 88,375 107,286 A18,911
01 A&l 87,586 106,264 A 18,678
OAHE Z2AM 2 S22 SA 87,586
—=S&Z &AM 920& *17,3902 15,999
—0E2 &M 9203 %18,027= 16,585
—Jt=2 oM 3,070&10,300= 31,621
—ASZ2 &AM 2,270¥+10,300= 23,381
03 A2 204Hl 789 1,022 A233
OAtHZE Z2AM € X2
87,586,000& *0.9/100 789
TIANEE 2 2l 2,394,004 732,391 1,661,613
101 Q1A H] 75,457 67,588 7,869
04 JIZAHZZ2NHESE= 75,457 67,588 7,869
OANE=X0 22l 22 29,989
—Jl2s 35,5703 x2&»214& 15,224
—5d2fFE 35,5702 x2&H »1.5+85& 9,071
—ReERgsE 35,5703 x2H x40 3,486
— Xt 35,5703 «2EH 10 712
—tHHEE = 42,739,000& +35/1,000 1,496
O=sASMa4SXeE & SR 22 URY 43,968
—Jlz=s 35,5703 x3&»214& 22,836
—5g2RE 35,5702 x3& »1.5+85& 13,606
—RE5dsH 35,5703 «3E 49 5,229
— X 35,5703 «3E 10 1,068
— & IHEE = 35,107,000& «35/1,000 1,229
OZXBANE=7A&c 2 U= 1,500
—&gs 70,0003 x5& *23] 700
— & g5t 80,000 x5& »23| 800
201 Y2 Y| 140,700 115,700 25,000




A B SAAMDY
M S A=SHAY
ool TAISS W =X B2 FY) Crol: A
N Z3 . CA(ZAH) - MPAY - BES Aol a4 Hlw &2
o= T ° . [= Bl e =5 0:”/.:"% Lsa
02 2223l 140,700 115,700 25,000
O332= & AMA 140,700
—=X,B223X 22RI(B2 ., sXRL42H
&3 EES S) 6,000,000& = 12& 72,000
—0l2I0IS0/H 25012 2223(M)|8)
2,000,000 x50 2«33 30,000
—02l0l=0l8 2018 3323(45t=%)
2,000,000 x50 2«33 30,000
—0el0ls0le 801 A 23 B8x
500,000& 54 2~ +3& 7,500
—OIZSEL MI|&H|l otz HEty|
100,000 *12JH & 1,200
401 A &HIYL 2048 2,177,847 549,103 1,628,744
01 Al&H| 2,165,425 546,500 1,618,925
O0E0I=0IH A2 B & SA2CISA
100,000, 0003 * 14 100,000
S0l 30 & =25, 285 02 0/=0l
B 700 THEBISAL 931,950
— X E I3 AHHI
70,000, 0002 x67H 290,000,000 * 174 A+13 900,000
0,000,000& *3H 2~
— & A& Y| 900,000,000& *3.55/100 31,950
OdliEs,otlids 55, 283 HE0l=0l
B 1290 THEHI S A 880,175
— = E T A
70,000,000 *11JH 2+80,000,000& * 14 A 850,000
—&AIE A I 850,000,000 *3.55/100 30,175
OLIS0l 0i2I0IS0IE S 25018 RX2E
Z29 20,000,000 & *3H £ 60,000
OXtoll Helol=0IH & 801 |X2el 2
A 20,000, 0002 *2IH 2~ 40,000
O0eol=0lH & 4253 Fadels8Y
1,500,000 *31JH 245,400, 0002 *2IH 2 57,300
O333X,2==sXU 2SS 2el3At
1,000, 0003 *46IH 2~ 46,000
OeEEZ 2 2=l RA2CIEY
10,000, 0003 *5J4 2 50,000
03 AIE=204l 12,422 2,603 9,819
O338 HEol=0lH S ANdE B 2 RA=
2l S At 100,000,000 *0.90/100 900
O=s,24s,2¢83 Halol=0e 70 ME
HI S A 900,000,000& *0.63/100 5,670
O&UIsS HEol=0lH 7HA MEHIS A
850,000,000 *0.63/100 5,355
O333X, XU 2SS 2elS At
46,000,000 *1.08/100 497
sAETE 23 455,009 451,982 3,027




SN BT &
X ZH: A
o T —

[m=)
ool &

AR S48 EERE:E]
_ _ _ N E
SH-EFHHA(FA) - NIRAE - BES O AFH '@Egj Hws2
= 28,661
[ 22,049
Al 404,299
MU 25 |4 455,009 451,982 3,027
= 28,661
[ 22,049
Al 404,299
A SR ) 24 75,700 60, 163 15,537
= 28,661
[ 22,049
Al 24,990
101 o124 45,934 54,816 18,882
= 18,374
[ 8,268
Al 19,292
04 JIAM2RIES S 45,934 54,816 18,882
OMZYX M2 Q12 45,684,0008! 45,684
= 18,274
[ 8,223
Al 19,187
OMSYX MSFBIN X& 49 250,000 250
= 100
[ 45
Al 105
201 Ypre | 20,303 500 19,803
= 6,501
[ 12,078
Al 1,724
01 AtR2ell 20,303 500 19,803
OLEZ 5 SAH| 203,000 203
= 81
[ 36
Al 86
OMSAAY ARIBHAIAEL Tt
624,000 624
= 250
[ 112
Al 262
OMSAAY AXBHAALY S
3,276,000 3,276
= 1,310
[ 590
Al 1,376
OMEAANY RFY X 16,200,000 16,200
= 4,860
[ 11,340
202 01 216 600 ~384
= 86
[ 39




SN BT SBBIAMD
Hu: MENE 25
Sl MR 25 84 (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il b o bRz
A of
01 =Uloib] 216 600 £384
OtErE ESH| 216,0002 216
2 86
= 39
Al of
206 W2 5,000 0 5,000
2 2,000
= 900
Al 2,100
01 HEH| 5,000 0 5,000
OMeI T B 300, 0002 *10% 3,000
2 1,200
= 540
Al 1,260
OUZYNBAY 222 2,000,0002! 2,000
2 800
= 360
Al 840
401 AlZHIL 2O 4,247 4,247 0
2 1,700
= 764
Al 1,783
01 Al 4,247 4,247 0
OtEexl 01222 X4 4,247,002 4,247
2 1,700
= 764
Al 1,783
AP 25 U X 22 379,309 379,819 A510
101 @121t 235,309 227,671 7,638
VIBIEDEESEERS 235,309 227,671 7,638
OUEZAR (AN EE) =Y 163,585
—Jea 35,5702 %223 #1072 83,732
—puaRsy 35,5702 %223 #1.5x422) 49,301
—f38Y4y 35,5702 *22% 262! 20,347
—oixg 35,5702 *22% 152 3,913
—MEs2 157,293, 00024 #40/ 1,000 6,202
OUEAAB(AAE) 22 22,591
-Jea2 36, 37021 %32 #1072 11,675
—pYaRsy 36,3702 %32 1. 5+422 6,874
—238Y4y 36,3702 x3 x262 2,837
—oi Ry 36,3702 x3 x4 437
—aEs2 21,932,000 %35/1,000 768
OUXIBE2AAY o9y 36,081
-Jlea 35,5702 *4% #1312 18,639




FA ST SFAL L
M MENE BS
el MENE 25 §4 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
— 5222+ 35,5703 x4 & »1.5x52& 11,098
—RER2sE 35,5703 x4H x30L 4,269
— Xt 35,5703 »4H 6L 854
—¢tHHEE = 34,860,000& +35/1,000 1,221
OMEZAE, 8= MetiE U= 12,300
—det= 100,000& 30H *22] 6,000
— ot 5t 100,000& »30& *22] 6,000
—2& - 24 10,000& 30 300
O&XIEsZAIA TI=H| 752
—&g= 100,000& ~4H 400
—&gst 80,0003 «4H 320
—2% 8,000 ~4H 32
201 Yer2 YY) 14,000 13,600 400
01 AtR22itl 10,000 9,600 400
onl=tl 3,000
—MEdets & orNE 2
300,000 =10 3,000
O=etl 7,000
—AEYUXNUHHMER 22 SEHI(S,I12E
) 7,000 108 x100& 7,000
02 3323l 4,000 4,000 0
O332= ¥ HAl 1,600
—U=3d g 288 & S22 600
HEEE= 400,000 = 1CH 400
ZIIEAM =8 50,000 = 1CH 50
BIMNERE= 75,0003 *10H =22 150
—HolSENEH & SHEZ KA BI(AX,
Z22I1) 250,000& »1CH*23 500
—MEZAES 2 IF =l
50,000 «10CH 500
OXtgfd el 2,400
—USEYNIZE S (H2Hl L8
200,000 1012 2,400
401 AISHIL L] 130,000 136,348 16,348
01 A&l 130,000 135,050 25,050
OEs=+ RX22ISA 3,000,000& 8= 24,000
o=ds 2=+ FH| 106,000,000 * 14! 106,000
HHSAUAY (ST SAAMD) 1,895,550 2,156,509 260,959
el 2 1,784,230 2,059,589 N275,359
el 2| 1,784,230 2,059,589 N275,359
101 1A H] 1,784,230 2,055,149 A270,919
03 RIAHAZZNE S 1,784,230 2,055,149 A270,919




A BT BIAMD
M WESAZH(ZAT BTN
& QI 2A|
SA BB CR(SH) - NRAY - A S Ol o e
OZ0Iet&d el 1,660,302
=] 1,280,330 x34H «12& 522,375
—&03 188,733
=g 925, 1603 *34H x4 3| 125,822
A2 925, 1603 *34H »23| 62,911
—HE & 925, 1603 *34H 53] 157,278
— MG 90,780
ExURY 90,0003 34«12 36,720
e 70,0003 *34E 128 28,560
NE=E 25,000 x34H 2 5«12& 25,500
A=< 80,0003 34 12 32,640
—ZU2RE 381,144
e =] 53,9003 *x34H 116 212,582
Xt 71,8703 34 % »24 58,646
A2t 2R
13,4703 20 A1 2t+34H «12& 109,916
— =S| MY| 167,280
ZHZ A 160,000& *34F x 123 65,280
- JIHI 2 =8| 110,000 «34EH « 128 44,880
M= ] 140,000 *34H » 123 57,120
—HJHEF Y| 1,110, 1903 *34H %23 75,493
—XHEH EXE 3,779
Elge 51,4003 »2H x4 3| 412
NESsh 420, 7903 2 x4 3| 3,367
— 20|t RAME=Z 100,000 «34H 12 40,800
Os30lstd 1=l 19,414
— Q& )| 28,0003 x2 & +34H 1,904
—EIN=(&E5t8) 20,0003 2 +34H 1,360
—ot=5te 35,0003 2% +34H 2,380
—EA=(FS8) 25,000 »2Z&+34YH 1,700
—S=406te 150, 0002 * 12 x34H 5,100
— ot e 15,000& «34H 510
-9 80,0003 *34H 2,720
— &3t 15,000& 34 510
— 2 &tst 50,0003 34X 1,700
— et 2 %t 20,0003 34 680
—2EhE 2 25,0003 *34Z 850
OZ0Istd AHHEE=
47,907,540 34 x29.54/1,000 48,117
OdaM ) SHSIISHEJ 212 55,460
—Jl2a 906, 160 x2H 12 21,748
—&03 906, 160& »2H +4& 7,250




FA ST SFAL L
B ML (ST 2IAND)
el elE 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
— JHAIXI & 906, 1603 /2x2H 4 & 3,625
—dEFIH 906, 160& 2H %1.5 2,719
— WS 2 X 140,000 ~2E x 122 3,360
— G4 80,000 x2H x12& 1,920
—ItE=g 80,000 «2F x12& 1,920
IR
B30 *BAl 2h+1.5x4 L #2 B+ 12E 5,334
—A2el==E  4,6303#1.5+30A| 2tx2H x 128 5,001
—28IHe 3
906, 160 /243 Al 2t *8Al 2+ 2B x65%+3E 12 1,397
RPN L= 4,6303 *BA| 2tx2H x162 1,186
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S A=
AN cABZ X4
SIS 2l 9 &)
N BT (3H) - MEAIY - B2 Al OH &EIE =
* S T ° - = (L] 0:”{:'_% S o
Ot 2H( A7) 400,000& +1CH 400
OA&EstECIATA (M) 250,000 = 1CH 250
SEA Y LAAEIE 2 80,102 64,960 15,142
CEAMAYLAAEIE 2 80,102 64,960 15,142
201 LetEHH| 41,552 39,460 2,092
01 AFR22lH| 31,072 28,500 2,572
O A0l 2t &te| it+=2t| 2,000,000 2,000
OSgEe H4HIISEE AMTG
80,000& x12& 960
O34 & LH4AXSHS Fdl
50,0003 *10& *23] 1,000
OL&A & LA4NXE FHHE s8S
300& *2,0000H4 600
OB B 22 2,500
—ot= 100,000& *10¥ 1,000
-5 150,000& *10H 1,500
O& A=t 80,000& 10X 800
OSADE RJI=F =4l
7,000 x3%+200 4,200
Oda & TANMIXS OtHs 2250 =4
]l 7,000 *3%H 200 4,200
O&4 OrrtgstHs =4l
7,000 x23% x203] 3,220
ORBOIZEUT SZ2LT} A
7,000 x23F x72L 11,592
02 5234l 10,480 10,960 2480
O8N x4 MIIea
40,0003 #40 Ao+ 12& 1,920
OL-ZaHs ==& PDA =Al2teldl
30,0003 x1CH+12& 360
OLFH &= AZHl 1,000,000 200 2 2,000
OL&A thExh AEHH RAESHI
300,000& »4JH A~ 1,200
O&y ¢4=222X% 34Xl
500,000& *10Y 5,000
202 (4 H| 16,200 18,000 A 1,800
02 EHOHI 16,200 18,000 A 1,800
O&aHs XN 150,000& x9H «12& 16,200
203 HRF&HI 1,500 1,500 0
03 AIMFXHRFEH| 1,500 1,500 0
OL&EY =53 24Y3 500,000& =33l 1,500
301 et24a = 2,000 2,000 0
12 JIEtE 43 2,000 2,000 0




SH: BED AR
& S TAEE =4
& =FZA 2 SA4HXE 22 (el =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
Oglztol g2 a3 2,000,000& 2,000
305 &3S 3,000 3,000 0
01 BHA2S 3,000 3,000 0
OLFY o CANISHE oM B4
250,000& «12& 3,000
405 AHoHESHI 15,850 1,000 14,850
01 T =S H SHI 15,850 1,000 14,850
OLZ4 bz FHOXH(AR)
150, 000& 124 1,800
OQ&EBIECIAT(AFR) 250, 0003 * 14 250
OL& A chxxA (24401, THA
11,000,000 * 14 11,000
Ogiibl® (Chxl) 700, 0003 *1CH 700
OHUED(CHA) 500, 000 *1CH 500
O (ChAI) 1,000,000 *1CH 1,000
OH2F I (HA) 300,000 *1CH 300
OEt R (&I77) 300,000 *1H 300
HH2AZH(S7 A=) 88,545 84,965 3,580
QI 2| 28,425 32,625 A4,200
eIzl 28,425 32,625 A4,200
101 Q14| 28,425 28,425 0
03 RIAHAZZ N2 28,425 28,425 0
OoLga =3 28,425
—Jl2s 906, 160& *12& 10,874
—J|g=< 906, 160& *400% 3,625
— A2t =g 4,630& *1.5%30A| 2+ 12& 2,501
—SYL22Y 4,630 %1.5%8BAI2Hx22 x12& 1,334
—IEE 100,000& «12& 1,200
— JHAIXI &Yl 906, 160& *0.5*43]| «1H 1,813
—wWEE x| 140,000& «12& 1,680
— M S A 80,000& »12& 960
—HESOtd| 906, 160& *0.75%22] 1,360
—XNESHIEx+Y 2,037
el 62,400% *43] 250
A== 446,700 *43] 1,787
—Ha USSR MHEEE
27,384,000& *38/1,000 1,041
Jl=2Z4l 60, 120 52,340 7,780
Jl=&dH| 60, 120 52,340 7,780
201 LBt 3| 34,320 33,120 1,200
01 AtS 22l 34,320 33,120 1,200




2A: B8
X XH: SH
o Tt (=}

I

ciel: o= (a2
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2

ORAM2EH| 60,000 x22H x12& 15,840
OJ|I23 &l 70,000 x22H x12& 18,480

202 (4l 21,600 18,720 2,880

01 2| 21,600 18,720 2,880
OJI2g2=& 0| 150,000& *12H «12& 21,600

203 YR =&l 4,200 0 4,200

04 EASIHRF=AH| 4,200 0 4,200
OFRANSHER=XY| 350,000& x12& 4,200




SN HYS
Zy: 44 FOUNIME 29

el FUINXME 23 (a2
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
g4 s 446,204 442 449 3,755
HdYs FOUXNINEH 29 361,450 352,860 8,590
FOIXXIME 2435 267,410 252,120 15,290
FOUXXIEE 29 121,940 111,380 10,560
201 LBt29H| 33,200 27,200 6,000
01 At 22l 20,200 20,200 0
OFUXXIHE 298| 600,000& x12& 7,200
OFUXNXME +=2ZHDE OHYZ
2,000, 000& 2,000
OFQUXXIAE MAIX] &2+ 2,000,000 2,000
OFQNXALS BIOIAM g
30,000& »25H x12& 9,000
HAL2 S HI 13,000
OFUXNXME HBLE L JAIF
1,500, 000& 23| 3,000
OFUXNXMEZ2 nE Y Ast 1,000,000& 1,000
OXiZEH 88s n= 2,000,000& 2,000
OMAESE XH S/ 5,000,000 5,000
OFQXXHEH SMEL 29 500, 000& *43] 2,000
HR=ZH| 600
AN ZERDZRY 600
OANEANH &5 F 600,000& 600
g A= 88, 140
SHALAIHIE A2 88, 140
OFURXIME KH3ASAA AHI2 4
20,000 *305H »12& 73,200
OF0IXXIHE AA | NS ALAF A H| 24
20,000 *3H x249 14,940
DA HEISY 29,420
201 Bt23 | 28,920
01 At22telyl 12,000
ORIJAAHLRFR =2 1,000,000& x12& 12,000
02 =294l 16,920
OBzZ22 2 WA 16,920
—RER2 1,250,000& x12& 15,000
—HUERERS 160,000& 12& 1,920
KH&EFE S 500
ML E2SFH S 500
O&EXOI0IRIAME 2D (A7) 500,000 =14 500
tets K& 100,790




SN HYS
Zy: 44 FOUNIME 29

SHel: FOIMAME &3 CERL
RA B SA(BH) - NRAY - B 01 e HRE2
01 LerEAZ 100,790 100,790 0
05 -2 - BEESEAZ 100,790 100,790 0
osz+d 200,0002! <282 *143] 78,400
OSH 31984 +2 20,0008 +28% =22+ 128 13,440
Oerg g 25,0008 * 1792 23] 8,950
HRS BSOS 8,260 3,000 5,260
201 Yere gy 1,260 0 1,260
02 BT 1,260 0 1,260
OSASMYI| +)HE s2S
5021607 4 +302 * 128 1,080
OSASMAI| BF 508 +60H L5312 180
01 LerEAZ 7,000 3,000 4,000
10 BAIAIHIR AL 7,000 3,000 4,000
OMREB2ULSI| HHAHOT S4HI
7,0008 50 =25/ + 102 7,000
S4s 22 22K 7,000 0,000 3,000
307 BI2H0I® 7,000 0,000 3,000
04 BIAARE 7,000 0,000 3,000
O84S 28 2X2AEH Mz
7,000, 0002 *13] 7,000
SHANEY 74,040 70,740 3.300
A2 2| 74,040 70,740 3,300
201 Y2 et] 74,040 65,740 8,300
01 At 6,500 0 6.500
OA®7S % H0H Z 6,500,002 6.500
02 BT 67,540 65,740 1,800
03222 2 A 27,000
—®)le3 1,600,000 » 128 19,200
—4.5t+=23 400,000 %128 4,800
—JIEt 2223 ¥ MM  250,0008 128 3,000
O g 21,600
—SAARE 1,800, 0002+ 12 21,600
ONEZHIRH| 9,240
—F AR 300,000+ 128 3,600
—2oIgHl 242 70,0008 128 2,040
-SSR B 50,0002 * 12 1,800
AR CIEL] 50,0002 * 12 1,800
O] 3,600
—2EANY(ZEH) RXH 300,008 128 3,600
OBASY LurssH| 200,000 * 128 2,400




SN HYS

Hal: HUE FORIME 29

ool SHARY GEEREED
SN HB SR (BIH) - A - B S 0l &b S D=2
- o T - = S = &= 0:”/&,% WS
OFAHE 2 AFH A 2,700,000 12| 2,700
OFEAM AUHEZBAIE X2 500,000& *23] 1,000
FU=RAY 20,000 30,000 210,000
FUEHALE Fl 20,000 30,000 210,000
401 AIZBIL 2] 20,000 30,000 A10,000
01 Al&H| 20,000 30,000 A 10,000
OF0I=R A I 20,000, 000& 20,000
HY2IGH(BLES) 84,754 86,074 21,320
oIzl 2| 24,734 37,714 A 12,980
el | 24,734 37,714 212,980
101 el ] 24,734 24,494 240
03 RIAHAZZNHE = 24,734 24,494 240
OF A2 & 24,734
—Jl2s 836,680& 128 10,041
—J|Y==e 836,680 *400% 3,347
— JHAIXI & Y] 836, 680 «200% 1,674
—JE SOl 836,680& *150% 1,256
— WSS 2| 140,000 «12& 1,680
— Mg Al 80,000& »12& 960
— =g 30,000& 123 360
—EE 80,000& 123 960
—XU2RrE 6,700& x15A| 2Hx12& 1,206
-2 35,7603 *1.5+22 «12& 1,288
— X+ 35,7603 16 573
-2 3
836,680& /243 Al 2+ *8 Al 2t x65%*4' A » 12& 860
—dHEE= 25,145,550 & *21/1,000 529
Jl2&Hl 60,020 48,360 11,660
Jl=23| 60,020 48,360 11,660
201 LetEHH| 23,400 24,960 21,560
01 AtER22/Hl 23,400 24,960 A 1,560
OR M2l 80,0003 13« 12& 12,480
OJl=2gl 70,0003 13« 12& 10,920
202 O4Hl 23,400 23,400 0
02 MO 23,400 23,400 0
O A0 150,000 *13F 128 23,400
203 ¥R =&l 11,420 0 11,420
01 D22 HRF4l 7,900 0 7,900
OJI22IHRF48| 7,900,000& 7,900
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2A B
Hu: 55 FOAXNIMH 29
& UKL 245t (ctel: &
_ _ _ Muo
SA - EE L SR(E) - MRAY - HAS 0l &k 24 0l ot o ClImEE
ESS 407,633 350,519 57,114
s FUNXNEH 2 329,534 263,715 65,819
O XY 43t 214,210 199,891 14,319
=X 29 94,620 86,460 8,160
201 B3| 26,000 20,000 6,000
01 AtE222lHl 15,000 15,000 0
OFXXIHE 22| 500,000& «12& 6,000
O=0IXXIA& 39 &
0,000 x25EF «12& 9,000
03 A2 HI 11,000 5,000 6,000
OFQUXNXHE HZ5LE L HAIZ
3,000,000& 3,000
OFQUXNXHE2 ng & A 1,000,000& 1,000
OMASES 4 (HE&EZ 5,000,000& 5,000
OXifZH sHsS WFE 2,000,000& 2,000
203 HRF&HI 600 600 0
03 AIBMFXHRF=EH| 600 600 0
OANEAH =2 2=t 600,000 600
301 EtEA = 65,820 58,380 7,440
10 EALAHIBEAS 65,820 58,380 7,440
OFQUXNXEE NHASAA AHE4
20,000& 212 »12& 50,880
OFQIXXIHEH A2l NHSAA A-24
20,000 x3H 249 14,940
405 AHoHESHI 2,200 3,480 A 1,280
01 XYL SSFSHI 2,200 3,480 21,280
OFeUXXEH =5 2,200
—&3ua &30 500, 000& +2CH 1,000
—E3ua =29 200, 0002 * 104 200
—HEtna = 100, 000& 104 1,000
QIEYRXe 22 28,200 28,491 A 291
201 Let2d| 28,200 26,400 1,800
01 AR 22| 9,600 9,600 0
OLIFHFHLR A =ZH| 800,000& «12& 9,600
02 =234l 18,600 16,800 1,800
Oz32= & HA 18,600
fERZ 1,350,000& x12& 16,200
—ERERS 200,000& «12& 2,400
s &8s N2 81,940 81,940 0
301 LEtE A= 81,940 81,940 0




FAN:ES
M = FUNAME 29
& UKL 245t (etel: =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
06 &-cl-EEEs2as 81,940 81,940 0
os& 75,440
- 200,000& *23H «143] 64,400
—3oF A 20,000 x23H »23| 123 11,040
Ot =4 25,000& 130 23| 6,500
IWRet==2 eS| 9,450 3,000 6,450
201 Let2d| 1,050 0 1,050
01 AtE22(H] 1,050 0 1,050
OSASMYI £0i8 s2S
503 500 A~ +30L x12& 900
OsasMYIl =5 50& *504 A +53] « 128 150
301 Ypt8aag 8,400 3,000 5,400
10 BALAHIEA S 8,400 3,000 5,400
ONRe==2Z2USI| HEL ST S44|
7,000& *50H 23| x 128 8,400
SEN2E 95,324 33,824 61,500
AMS2SEHI 38,824 33,824 5,000
201 et 38,824 33,824 5,000
01 AtS 22/l 5,864 864 5,000
ot Xz 72,0003 128 864
OANE+= & B0 #HI 5,000,000& 5,000
02 2323l 32,960 32,960 0
O232= ¥ MAl 12,200
—dIIRe3 800,000& «12& 9,600
-4 otk = 100,000& «12& 1,200
—AsSIHEE= 1,400
L2ES= R 1,200,000 *1CH 1,200
OlE Xt 100, 000& 2CH 200
(@)= 7,200
—CEANNARS 600,000 «12& 7,200
OAl & &EHI=XIHl 6,960
— & A= X | 300,000& «12& 3,600
—Rolddl+=+2 170,000 x12& 2,040
— A3t 2teld 110,000& 128 1,320
OXtg, & &td| 4,200
— &R XA 300,000 *12& 3,600
—O0lE X=Xl Hl 50,000& 128 600
OFA2E Let=ZH| 200,000& «12& 2,400
EAMEZ A 56,500 0 56,500
401 Al&HIZL=ROHYI 56,500 0 56,500




SN

=1
HH: ZE FOUXNKMH 29
Se SHASY EEREED
_ _ _ Muo
K- Z3 . S2(3H) - MPAY - B Y= Ao il i~ o 2
01 Al&Hl 56,500 0 56,500
OFA SaEs o ALRBLTA
36,000,000& 36,000
QIR "t WX 10,000,000& 10,000
OFEAM A8 HA 3,000, 000& 3,000
OFEA 222 HH WA 6,500,000& 6,500
OFA ASHEED Q28 DM 2 S2F|
1,000,000& 1,000
=2 A 20,000 30,000 A 10,000
QI HALE &I 20,000 30,000 A 10,000
401 AIZBIL 20| 20,000 30,000 £10,000
01 Al&H| 20,000 30,000 A 10,000
OFU=RAY 20,000, 000& 20,000
HE2IHHI(ES) 78,099 84,139 26,040
23| 28,799 40,419 211,620
A2dH| 28,799 40,419 211,620
101 @121t 28,799 28,579 220
03 RIAHAZZNHE = 28,799 28,579 220
OF A2 A 28,799
—Jl=3 836, 6802 * 122 10,041
oy 836, 68021 *400% 3,347
— JHAIXI & Y| 836, 680 «200% 1,674
—HE SOl 836, 680& *150% 1,256
—us2 x| 140,000 «12& 1,680
— M S Al 80,000& x12& 960
— Mg 30,0002 %128 360
- s 130,000& «12& 1,560
—ZU2RrE 6,700& x15A1 2Hx12& 1,206
— 52225 35,7603 *1.5+22 «12& 1,288
— X 35,7603 21 751
e
836,680 /243 Al 2tx8Al 2+ x65%* 195 128 4,083
—dNHEE= 28,206,000 *21/1,000 593
=&l 49,300 43,720 5,580
Jl=23| 49,300 43,720 5,580
201 Lty 18,000 21,120 A3,120
01 AtSR22|Hl 18,000 21,120 A 3,120
ORAM23HI 80,000& x10€ «12& 9,600
o=zl 70,0002 %102 *122 8,400
202 O4Hl 18,000 19,800 A 1,800
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A IS
HM: 2FISFCNXNLAEH 29
Cel: =OIXXIME &4A35t (&te &=
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
=21 415,768 441,200 N25,432
2TEI0UNXHE 2 339,250 359,801 20,551
FOIXNXINEYH 2435 248,990 256,541 AT7,551
FOIXXINEH 24 113,660 105, 160 8,500
201 LEr2HH| 26,000 20,000 6,000
01 At22t2IH] 15,000 15,000 0
OF0IXXIHE 22| 500,0002 * 122 6,000
OF0XNXIAN 5|o Eadich
0,000 x252 » 122 9,000
03 S#AIR2ZH| 11,000 5,000 6,000
OXXIAE HEZLE L MAIF 3,000,000& 3,000
OFOUTXIMMEt NE L Ast 1,000,000 1,000
OMAEE I (HELT 5,000,000 5,000
OXZEH S8s ue 2,000,000 2,000
203 Y= 600 600 0
03 AMHMZ=XADFZY| 600 600 0
OAIFAY &= =3 600,000 600
301 LEBAZ 83,820 78,060 5,760
10 SHALAHI 2 A2 83,820 78,060 5,760
OXXIME KRS ALK AlH 24
20,0002 x287H « 122 68,880
OXXIHE AlM2te] A2EAX AH B4
20,0002 «32 2492 14,940
405 XtAHE SHI 3,240 6,500 A3,260
01 MHALSEFSH 3,240 6,500 A 3,260
OZFHE IESSAFEH(SLIHEZE, AR)
1,400,000 = 1CH 1,400
OAEEHP TRIH(AR) 790,000 = 1CH 790
OF0XXIRALE| AL A HHAH(AIT)
300,000 = 1CH 300
OFURXIAKLZ AFRA! X&)
200,000 = 1CH 200
OF0UXIANE AFRA F o2 EXHAF)
220,000 =1CH 220
OFUXNXIALE AL 392 oK (A7)
55,0002 *6 K 330
g2 23,520 44,411 20,891
201 LEr2HH| 23,520 23,520 0
01 AtR22t2IH] 10,800 10,800 0
OplAMHAD =R =2 H| 900,000 * 122 10,800
02 222%H| 12,720 12,720 0




S 2RIS
FH: I F1sSFUNXNEH 29
SRl FUXXMAEH 24535 (9 E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
O3232= & AMA 12,720
—RERI 1,000,000& x12& 12,000
—gE RERS 60,0003 x12& 720
sHE 2= A& 103,970 103,970 0
301 LEtEAZ 103,970 103,970 0
05 S Bt e sg2ag 103,970 103,970 0
o =4 200,000 *29% x 143 81,200
OSE 319 &E4&+Y 20,0003 29 +x23|«12& 13,920
ostd ¢ 25,0002 *177H *23] 8,850
MEEB22US )| 7,840 3,000 4,840
201 LBt H| 840 0 840
02 2223l 840 0 840
OsASMYIl =0 £S&
503 #4004 2 +302 «12& 720
OSA=MYI ST 50& #4000 A~ #53] x 128 120
301 LprEas 7,000 3,000 4,000
10 At HIEa =3 7,000 3,000 4,000
ONRet==20=0| HELDS WA 24|
7,000& x50 23| x10& 7,000
SEAMNE2Y 70,260 73,260 23,000
EA2Z 3 67,260 58,260 9,000
201 L2y 67,260 58,260 9,000
01 AFR 22| 9,000 0 9,000
OAN&E s & =0 El 9,000,000& 9,000
02 23234l 58,260 58,260 0
O2322= & HMA 22,100
—&MIIe3 1,500,000& x12& 18,000
—& .ot R3 250,000 «12& 3,000
—XAsSxHAl ¥ BE=2 600,000 = 1CH 600
—JIEt B32= & AA 500,000 500
OHZH| 18,000
—SANNARS 1,500,000& x12& 18,000
(OVNF=F=4:1R=PNL:] 14,160
—3A E AE=E RX22H]
300,000& x12& 3,600
—dojerd el e ==2 120,000& <128 1,440
—Z AL gstateltl 120,000& x12& 1,440
—20&dl =2 220,000& «12& 2,640
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—x2 KX 300,0009! * 128 3,600
—0lEX RXHI 400,0008! 400
B AL O 3,000 15,000 A 12,000
401 AlEHIL 2O 3,000 15,000 A 12,000
01 A& 3,000 15,000 A 12,000
OSISIAILY 2+2L0] £XITZAF  3,000,0009 %14 3,000
=oAL 20,000 30,000 10,000
ZOIZBAE F| 20,000 30,000 10,000
401 AlEHIL 2O 20,000 30,000 10,000
01 A& 20,000 30,000 10,000
OF Q=AY 20,000, 00094 20,000
BH2AAY (BR1S) 76,518 78,224 A 1,706
olze oyl 26,228 39,524 A 13,296
olat 2oyl 26,228 39,524 A 13,296
101 Q12| 26,228 27,724 A1,496
03 SIAHA2ZRE 4 26,228 27,724 A 1,496
OFAtZRIY Q%Y 26,228
-Jl=3 836,6802 + 12 * 128 10,041
—Jlgay 836, 6802 *400% 3,347
—JH X2l 836, 680! *200% 1,674
— Y= EIHY| 836, 680! *150% 1,256
- DEE X 140,0002! * 12 1,680
—Fug Al 80,0002 122 960
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—JtE4y 80,0002 122 960
P EE T E=) 420,0008! %42 | 1,680
—AlRbel &g 6,70021 * 15AI 2t 122 1,206
—sasg 35,760 1.5+ x 128 1,288
—oixt g 35,7602 * 162 573
—2£H43
(836,680 /243) 5BAI 2t x65%+ (31 + 118 +41 « 663
1)
—MTHEEE 25,688,0002%21/1,000 540
122l 50,290 33,700 11,590
122l 50,290 38,700 11,590
201 ety 19,200 19,200 0
01 At el 19,200 19,200 0
O Ae Ll 10,0008 *10% * 122 12,000
OPIES=1r ] 60,0002 * 10 * 128 7,200
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202 O4Hl 18,000 18,000 0
02 XY 18,000 18,000 0
O HHHI 150,000& *10Z x 123 18,000
203 HERF&d| 10,000 0 10,000
01 J|22IHRF&HI 6,600 0 6,600
OJI22IARF&| 6,600
02 HRIAHSF=EIH| 400 0 400
OFAIAH R FAH| 40,0003 10 400
04 EA2ISRFEH 3,000 0 3,000
ORMZ2ZHERF2AI 250,000 x12& 3,000
204 XA 1,800 0 1,800
01 g2 FH| 1,800 0 1,800
Os& HMGSHIRFAH| 150,000& = 12& 1,800
405 KHeHESHI 1,290 1,500 A210
01 XL SSFSHI 1,290 1,500 A210
QdoIMZ e (MdE, A7) 790,000 = 1CH 790
OAMU (&l177) 500, 0002 *1CH 500
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2w2s ZOUNKME 29 457,376 396,506 60,870
ZOIRXIME B45 320,516 267,346 53,170
ZOIRXIME 2 155,420 105,020 50,400
201 Ygreg| 29,600 21,200 8,400
01 At 22/t 18,600 16,200 2,400
OF QXX MEf 2| 600,000 *122 7,200
OFQXXIAAS 59 HAag
30,000 %2581 x 122 9,000
OHAZ 29| 2000002 *122 2,400
A2 b 11,000 5,000 6,000
OFQURXME HBLE L MAIS
3,000, 0002 3,000
OFQIXMEZ DE L At 1,000,008 1,000
ORNZY SHE DB 2,000, 0002 2,000
ONASE X oISHD 5,000, 0002 5,000
R E Y| 600 600 0
NEZRHRETY| 600 600 0
OANEAIZ =7 600,000 600
AP B AD 120,720 80,220 40,500
AL 2 A 120,720 80,220 40,500
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20,0008 *357H 2t S #3A| 242 12 100,800
OFQRXIME AILR2 HESAX AHI2A
20,0002 x4 2492 19,920
RHAHF S 4,500 3,000 1,500
NNEEEE N 4,500 3,000 1,500
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301 Ypt8azg 7,000 6,000 1,000
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ONRE =232 US| HEL FOHI =S4
7,000& *50H 23| x10& 7,000
2N SEHED 29 19,846 15,535 4,311
101 21 H| 11,246 11,475 A229
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405 AHoHFESHI 6,400 2,000 4,400
01 MHARESFSH 400 0 400
OMBIR (&l57) 400,000 * 14 400
02 =AY 6,000 2,000 4,000
OX2= M2 A= H42Hl 10,0003 6002 6,000
= FA2Y 116,860 99, 160 17,700
HA2E 3| 92,900 76,660 16,240
201 LetEI| 91,700 76,660 15,040
01 AtER22/Hl 12,000 0 12,000
OANEFS & HIOHEYI 12,000,000& 12,000
02 ZE=2ZHl 79,700 76,660 3,040
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— &Gt ER3 270,000& *12& 3,240
— XS XA & J1EHALAI 1,500,000& 1,500
—AEINSEEZ 1,200,000& 1,200
Od =l ,900,000& x12& 22,800
(OINE=F-1:=1E=IN]:]! 20,460
—&EAM Y A2 A2
500,000& = 12& 6,000
—RoZHlxr= 220,000& 12& 2,640
— & A gatetell 100,000& = 12& 1,200
— & I|®X &l 253,000& *12& 3,036
—EA2g dot=ZH] 500,000& = 12& 6,000
=&yt e 2 132,000& = 12& 1,584
OXte= X2l gl 3,600
— 23X 7l 300,000& x12& 3,600
OFEAL HE 2A FHa 4,000,000& =13 4,000
OFA 28 HA 3,700,000 *13| 3,700
405 Kot S| 1,200 0 1,200
01 &L 2EFHSHI 1,200 0 1,200
O#ANE HeH(UIA) 400,000 =14 400
OSHA St&EA =2AZI((4
400,000& =2CH 800
HAEZOH A 23,960 22,500 1,460
401 AIEHIZLRb] 23,960 22,500 1,460
01 Al&H| 23,960 22,500 1,460
OSEA st&Ea AXZ0 X 80,000 1204 960
OSAHIE &0 L o3 EXISBA
21,000,000 =14 21,000
Os&EAMN =38 ¥ dEFSA 2,000,000 =14 2,000
Ol=3 A 20,000 30,000 A 10,000
ZOIZEAIE FH| 20,000 30,000 A10,000
401 AIEHIZ 2 20,000 30,000 A 10,000
01 Al&HI 20,000 30,000 A 10,000
O=F0I=3 Al 20,000,000& 20,000
HY2IHH|(S22S) 82,565 80,840 1,725
ol 2oy 23,485 36,200 A12,715
ol 29| 23,485 36,200 A12,715
101 elH| 23,485 23,020 465
03 RIAHA2Z2NHE = 23,485 23,020 465
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—Jlzs 836,680 x1E «x12& 10,041
—Jlg=g 836,680 *400% 3,347
— A X &4 836,680 x200% 1,674
— 25t 836,680 *150% 1,256
— WS 2 X 140,000 «12& 1,680
—gASAH 80,000& x12& 960
— Pl 30,000& 122 360
—ItE+g 20,000& 122 240
—F22eH 35,7603 *1.5+22 x12& 1,288
— =22 6,700& «15A1 2+« 123 1,206
—gx=g 35,760 x15& 537
-2 3
836,680 /243 A1 2t +82 %65%* (1E x 1 & +21F 1 412
12)
—tHEE= 23,020,000&*21/1,000 484
Jl=2dH| 59,080 44,640 14,440
Jl=&Hl 59,080 44,640 14,440
201 Yereo| 21,600 23,040 A1,440
01 AtR22iHl 21,600 23,040 A1,440
OF A2l 80,000& x 12~ 122 11,520
OJl== el 70,0003 x 128+ 128 10,080
202 O 21,600 21,600 0
02 40 21,600 21,600 0
O HAH 150,000 «12E x 12 21,600
203 AR =& 11,380 0 11,380
01 JI 22 L= 7,900 0 7,900
Oyja=zgge2x=atl 7,900,000& 7,900
02 HBIIHRFH 480 0 480
OZ I H =] 40,0003 12 480
04 BEA2SEFFAH| 3,000 0 3,000
ORNzEg2FaYl 250,000& »12& 3,000
204 HRLBAY| 1,800 0 1,800
01 MR AHH| 1,800 0 1,800
Osd AXSYR-A B 150,000 128 1,800
405 XtotE SHI 2,700 0 2,700
01 Mt E=SFSHI 2,700 0 2,700
O2AMU (CHAHI) 500,000& = 1CH 500
Ot X E3tolet(ChHA) 400,000& »1CH 400
O-ESZFH(UAH) 1,800,000& = 1CH 1,800
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FOXXINE 843 195,360 183,431 11,929
FOUXXIEE 29 121,540 108,600 12,940
201 LBt29H| 28,400 20,000 8,400
01 At 22l 17,400 15,000 2,400
OFUXXIHE 298| 500,000& x12& 6,000
OF0IXXIAL 5o A
30,000& x25H x12& 9,000
OFQUXXHE AKX L2t 200,000& x12& 2,400
03 SHAIEHHI 11,000 5,000 6,000
OF0XNXHEH HZLHE L A
3,000,000& 3,000
OF0UXXIME nE & Ast 1,000,000 1,000
OXiZH S8s 1= 2,000,000 2,000
OMAES H HEHE 5,000,000& 5,000
203 LR F&| 600 600 0
03 ABFAHR2 =AY 600 600 0
OAMEAH &5 F& 600, 000& 600
301 2EtEAZ 86,940 80,700 6,240
10 HAIAHIEAZ 86,940 80,700 6,240
OFUXXIHE XSAK AH 24
20,000& 300 x12& 72,000
OF0IXXIAEH A2t KAZAL AlH| B4
20,000 *3H x249 14,940
405 KHAHFE S HI 5,600 7,300 A 1,700
01 At =SFSHI 4,600 6,300 A 1,700
OZF0IXXIHE SAA XIEH(AMF)
1,300, 000& *24 2,600
OFQRXIHE SAA HOZHA(AF)
2,000,000 *1H 2,000
02 =ML 1,000 1,000 0
O235e & N7l 10,000& =100 1,000
DIRHR2He &4 14,400 18,291 A 3,891
201 B3| 14,400 14,400 0
01 AtR2teldl 8,400 8,400 0
O0AHMARFER 24| 700,000& x12& 8,400
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Ogt&E=¢ 25,000 x88H »23| 4,400
=52 gt=D| 9,100 3,000 6,100
2 et ZH| 2,100 0 2,100
01 AtR22lt] 2,100 0 2,100
OSASRYI| 4£718 =25
503 10000 A »30L 12 1,800
OSASMY I S& 503 10000 & +53] x12& 300
AoBAZ 7,000 3,000 4,000
HALAHIE A2 7,000 3,000 4,000
ONRE 222 ¢SI| HEL F0UHI =S4l
7,000 «50H 23|« 10 7,000
t2d 56,980 80,780 A 23,800
EA2E 3| 56,980 47,780 9,200
B2 A 56,980 46,980 10,000
At 2teltl 12,160 2,160 10,000
O&=J] & Xz 180,000& x12& 2,160
OAN&BFS ¢ HIOH #HI 10,000,000& 10,000
02 =234l 44,820 44,820 0
O332= & AMA 16,200
—&J232 1,000,000& x12& 12,000
—&,ol=ER=3 200,000& x12& 2,400
—JIEt 332=a & HAl 150,000& x12& 1,800
O Azl 12,000
—SANNARZ 1,000,000& x123 12,000
OAl & &I Xl 8,820
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200,000& = 12& 2,400
—Solddl+=2 225,000& =12 2,700
— A 2at2teld] 110,000& <128 1,320
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01 Al 20,000 30,000 10,000
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203 Y=Y 9,920 0 9,920
01 JI2A2YARETY| 6,600 0 6,600
OJB2YHREAY| 6,600, 0002 6,600
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481,305 491,489 A10,184
ZOMAME 2 397,115 400,991 A3,876
ZOMAIME 243 285,315 306, 191 A20,876
ZOIRAINE 2 99,920 105, 280 A5,360
201 Y2 ay| 28,360 22,360 6,000
01 AFR22/Hl 7,360 17,360 0
OZQIRXIME S| 500,0002 122 6,000
OFQIRIIME +LMRT R R0l
2,000,0002 2,000
OZBINXIAAS 50 HAL
30,0002 262 * 128 9,360
AL 2| 11,000 5,000 6,000
OFQIRIME RELT L FAIS
3,000,00024 3,000
OZFDIRAIMEZ DE L A3t 1,000,0002 1,000
ONMASE T HE2D 5,000,0002 5,000
OTNZY SOE DS 2,000,000 2,000
R =Y 600 600 0
NEERSEEER ST 600 600 0
O ER RS 600,0002 * 13| 600
ST 69,960 65,320 4,640
AL AL D 69,960 65,320 4,640
OFDIRXIME RAZBAK Y24
20,0002 25024 * 122 60,000
OZDIMAIME AlLB2 TAZAX Qo2 A
20,0002 *2 %2492 9,960
T S | 1,000 17,000 A 16,000
S AT 1,000 1,000 0
OZDIRAIME SH PUHl 10,0002 %100H 1,000
DN 2 38,450 28,491 9,959
201 Y2 Y| 32,400 27,600 4,800
01 AFRZr2/Hl 12,000 12,000 0
ODIUBHALEZ +8H] 1,000,000 122 12,000
29| 20,400 15,600 4,800
OSHR3 1,600,0002 122 19,200
OBt&E2He3 10,0002 * 122 1,200
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301 LEtEAZ 7,000
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S BARY 91,800
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O =l 7,200
—CAIIARZ 600,000& x12& 7,200
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OFUANXAAS 3]0 BAxg
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OFQXNXHE2 ng & A 1,000,000& 1,000
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Oo0lglol Meguse & NASSE TUH HE8E
5,000,000& 5,000
203 HRF&Hl 600 600 0
03 AIMZ=XHRFEH| 600 600 0
OAEAHFX 600, 000& 600
301 Lpt8aag 92,940 78,520 14,420
10 EALAHIEA S 92,940 78,520 14,420
OFQUXXIHE NHESAA AH 24
20,000 325 «12& 78,000
OFQIXXIHEH A2t NHSAL Adl24
20,0003 #3& »249& 14,940
405 AHeHESHI 1,000 7,240 26,240
02 ENM7H 1,000 3,000 A2,000
OEAM7HI 10,000& 100 1,000
QIAASKe 29 22,200 20,150 2,050
201 Let2d| 22,200 19,800 2,400
01 AtE22/Hl 10,800 10,800 0
ORAHFHR =& 2FH| 900,000& 128 10,800
02 23234l 11,400 9,000 2,400
02223 % HA 11,400
PUERS 900,000 x12& 10,800
—s RERS 50,000& »12& 600
sgE 235 N& 82,590 79,110 3,480
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OsasMYI ST 50 3004 A +53 128 90
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OFA2E Let=ZH| 200,000& =128 2,400
OANEZS ot E4 5,000,000& 5,000
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OF 0= A 20,000,000} 20,000
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OE A B2 /oI AH| 28,952
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— g = EIHY| 836,680 *150% 1,256
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DIE-E] 44,160 33,480 10,680
201 Ler2%y| 16,200 17,280 A 1,080
01 AFR22lH| 16,200 17,280 A 1,080
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202 01| 16,200 16,200 0
02 ot 16,200 16,200 0
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S CR(BH) - MRAY - BES Aro e Hlm= 2
TES 527,282 723,497 A 196,215
TES FUMXMEEH 29 462,576 652,801 A 190,225
O XY 43t 302,676 110,310 192,366
=X 29 199,040 52,080 146,960
B2 A 29,200 20,800 8,400
AR 22l 18,200 15,800 2,400
O=0IXXIdH 23| 600,000& x12& 7,200
OFUXNXHE T2 552 2,000,000& 2,000
OF AN 3]0 &St
30,0003 25« 12& 9,000
AL ZHI 11,000 5,000 6,000
O XIdE AFLHE L Al
3,000,000& 3,000
OXiZEH 58S WUF 2,000,000& 2,000
OMASSE 4 (HEZBZ 5,000,000& 5,000
O UXIdEH2 i & As 1,000,000& 1,000
HRFHI 600 600 0
ANHMZFXHIZ=AH| 600 600 0
OAEAIH =& 600,000 600
dotE A=z 110,940 29,680 81,260
HAIAHIEAZ 110,940 29,680 81,260
O=F0IXXIHEH XH&ASALA A 24
20,000 400 x 123 96,000
OFUXXIHE Ald2e] NHSALA AU 24
20,0003 »3H 249 14,940
AHatE SH| 58,300 1,000 57,300
&L =S FSHI 58,300 0 58,300
OAFHUA 2 (&) 44,500
—JdAEHFH 1,800,000 *1CH 1,800
—FOMHINSEHFH 1,100,000 *20CH 22,000
—dAFE M4 350,000& +21CH 7,350
—Z=H 2AX 250,000 *21JH 5,250
—QIHEIBSI0IERE 7,800,000 1CH 7,800
—30IEEE 300, 0002 *1CH 300
oM 2SI (AH) 13,800
—SE2sJIF(2El3HIUolE)
12,000,000 = 1CH 12,000
—ed il 2LIH 450,000 *4CH 1,800
g 2xel 29¢9 19,500 15,900 3,600
2 et ZH| 19,500 15,900 3,600
At 2tel | 9,600 8,400 1,200
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OsalSMHD|l = ==&
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OSAISMY D EE 50 *50H A 53] 12 150
301 LEtEAMZ 7,000
10 SEAIAHIEA 2 7,000
OMREZSLOS)I| HEAZEHX S4]
7,000& *50H *23| *10& 7,000
oD NP ZYERD 29 2,346
101 el 21H| 11,246
04 JIZtMI22XNHsEE > 11,246
OS2I 11,246
—J|l22 35,5703 » 1Y %249 8,857
PN EE= 35,5703 x1H*12 427
—Rs5dY 35,5703 x1H x5 1,850
—MEEE 11,133,410& 1% 112
201 Et24d| 3,100
01 AF=22elbl 3,100
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Osg&10 8494| 1,000,000& 1,000
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01 AFR 22| 12,800 3,400 9,400
OEAMEZE get==H| 200,000& «12& 2,400
O&=J] gz 1,000,000& *24! 2,000
OFA LHE EaHl 3,000,000& 13| 3,000
O&FA 28 Eatl 3,000, 0002 *13] 3,000
OFA #9 &= 400,000 *63| 2,400
02 ZE=23Hl 107,100 50,600 56,500
Oz532= % HAl 42,800
—&JI23 3,000,000& 123 36,000
—&.ot=ER= 400,000 123 4,800
—JIEtE322 & HA 2,000,000& 2,000
OHZ 4| 36,000
—ZAIDEA Y X eterdl 3,000,000 123 36,000
OAl & EHIs Xl 22,800
—E AL XY 500,000& «12& 6,000
—Rolddl+=2 250,000& x12& 3,000
—YWaI| M2 1,500,000& *14! 1,500
— &I oHM 2k el | 300,000& «12& 3,600
— A 2OrM 2t el | 150,000& «12& 1,800
—sZJIsX&eldl 275,000 «12& 3,300
—JIEt AI2EHl SX2eldl 300,000&«12& 3,600
OXt&td| 5,500
— &R XA 300,000& = 12& 3,600
—O0IEXt 50,000& = 12& 600
—22x 2 0lEX E€2 1,300,000& x13 1,300
401 AlEHIZ 2 20,000 0 20,000
01 Al&HI 20,000 0 20,000
OF1 Zta0l S At 20,000,000& 20,000
Dl=JA At 20,000 30,000 A 10,000
QIEE AL E 2| 20,000 30,000 A 10,000
401 AlEHIL 2] 20,000 30,000 10,000
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O=0I=R A | 20,000,000& 20,000
HHSHAY|(TES) 64,706 68,535 A3,829
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eIzl 24,186 35,055 A 10,869
101 Q14| 24,186 23,295 891




2N EES
HH: HESARY(CES)
& QI 2AY| (el &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
03 RIAHAZZNHE = 24,186 23,295 891
OF A2 & 24,186
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— JHAIXI & Y] 836, 680& «200% 1,674
—HESOtd| 836, 680& *150% 1,256
—wE2 2| 140,000 «12& 1,680
— Mg Al 80,000& x12& 960
— Pl 30,000& 123 360
—ZU2RE 6,700 x15A1 2t 12& 1,206
—5222+E 35,7603 *1.5+22 «12& 1,288
— X 35,7603 16 573
-2 3
836,680 /243*8A| 2t x65%+3 = « 128 645
—dHEE= 23,683,000&*21/1,000 498
— &< 40,0003 x12& 480
—XEEH = 44 4603 48 178
=&l 40,520 33,480 7,040
Jl2&H| 40,520 33,480 7,040
201 B3| 14,400 17,280 A 2,880
01 AtER22/Hl 14,400 17,280 A2,880
OR M2l 80,000 x8H «12& 7,680
OJl2=El 70,000 x8H «12& 6,720
202 O4Hl 14,400 16,200 21,800
02 M 14,400 16,200 21,800
OZ A0 150,000 x8H 122 14,400
203 HRF&HI 9,920 0 9,920
01 JI22IHRF4| 6,600 0 6,600
OJI22FHRF4| 6,600,000& 6,600
02 FRAINMAHRFAH| 320 0 320
O INAH I = 40,0003 »8H 320
04 RAN2ILRFAHI 3,000 0 3,000
OFRN2ZHRF&HI 250,000& «12& 3,000
204 HRLBAY| 1,800 0 1,800
01 MG PR FH| 1,800 0 1,800
Osd Mg+ AH| 150,000& «12& 1,800
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